PROFESSIONAL
EXAMINATION BOARD
| Bl Directorate of Akikrit Bal Vikas Seva
Bb@mmmquon Recruitment Test 2017 (for Mahila
ooarg Paryavekshak and Paryavekshak
Mahila Aganwadi Karyakarta)

30t"March 2017,02:30 PM

Topic:- Grad_Nutrition and Health

1) Which one of the following nutrient provide more energy?/ Eﬁ@ﬁq-w Ty dd 3P SHeit
WS BT 82

1. One gram carbohydrate/ T UH Eb‘ﬁﬁ%ﬁé‘c’
2. One gram fat/ U UH Il
3. One gram protein/ U UH Ui

4. One gram vitamin A/ T /1 fdeifd= A

Correct Answer :-

e One gram fat/ Uch UH 9T

2) Components of the ICDS scheme is/are:/ ICDS TSI $T/F UTH §/7:
1. Supplementary Nutrition/ YR qiyoy

2. Immunization/ UfaRefiemor

3. Health Checkup/ a4 G|

4, All the above/ SR & Tt

Correct Answer :-

o All the above/ $UR & gt

3) According to ICMR-2010, One microgram B-carotene after conversion will be equal to:/ ICMR-

2010 ¥ 3FUR, TP HISHHI B-FATT TURRUI F I & I&% ghm|
1. 6 pg Retinol/6 ug fera

2. 8 pg Retinol/8 pg feAta

3. 10 pg Retinol/10 pgw

4. 12 pg Retinol/12 pg e



Correct Answer :-

« 8 g Retinol/8 pg IfeHTd

4) Pigeon chest is the symptom of which deficiency disease?/ &l d&f (fUe %) T =gar AT
T AL §?

1. Rickets/ WF

2. Malarialtlﬁﬁtﬂ

3. Night Blindness/ et
4. Anemia/ Q:ﬁﬁ'ﬁﬂ

Correct Answer :-

« Rickets/ Rpeq

5) Rich source of vitamin C are:/ f3ef¥ ¢ &1 9= Hid &-
1. Fresh Fruits/ diSlT thel

2. Cereals/ 31N

3. Pulses/ qId

4. Milk/ g

Correct Answer :-

e Fresh Fruits/ drsil idd

6) According to ICMR 2010 the amount of Kcal/Kg body weight required by infants (0-6 month)
per day are-/ ICMR 2010 & 3R, Tguid fRgait (0-6 ATE) F forw ufafeT smaxas fFat Hart/ e
IR YR B} 911 8-

1. 92 keal /92 fHal HaRt

2. 100 kcal/100 fara FHart
3. 108 kcal/108 fara Hart
4. 120 kcal/120 Tt HaRt

Correct Answer :-

e 92 kcal /92 fareft R

7) Which of the following is needed by bacteria to assist its growth and multiplication?/ Gﬂﬂuj @t
gfS 3R IgTUH # Heraal & e 39 A frae) smazasdn gt 32

1. Water/ oid
2. Food/ @E-uer

3. Suitable temperature/ 3Ugdd dqHTT



4. All of the above/ Judad Wit

Correct Answer :-

o All of the above/ E'Clgﬁlﬂ Tt

8) The most important parts of treatment of diarrhoea are:/ ¥ ¥ IR & Haife 'FIBﬁ'lIUf HIT %
1. To prevent dehydration from occurring, if possible/ IS Ira B dl FSTeliaxur 811 &1 AU HRAT

2. To treat dehydration quickly if it does occur/ e fAcfelienur 81 oL af ST deft & ITAR HRAT

3. To feed the child/ S/ ST UT HRAT

4. All of the above/ ITdad Tft

Correct Answer :-

« All of the above/ Iudad Faft

9) Disease which is caused by protein-energy malnutrition is:/ MET-Suit Q'T'Zﬁ'q'UT & PRI N arel
T B-

1. Tuberculosis/ & T (CISRP ANRT)
2. Kwashiorkor/ 1R IBHR

3. Fever/ §9R
4, Malaria/ HaRaT

Correct Answer :-

o Kwashiorkor/ @R IHR

10) Oral rehydration salts (ORS) solution therapy is used for the treatment of:/ 3Ra 'ﬁ?ﬂ%‘?ﬁ
Wieed (ORS) e fafde &1 SuahT ¥ IUER ¥ fFar S 8:

1. Constipation/ ®esl

2. Ulcer/ &R

3. Obesity/ HICTdT

4, Diarrhea/ TUgUll (G%)

Correct Answer :-

« Diarrhea/ GUgUT (&)

11) Dengue Fever is an outbreak prone viral disease, transmitted by:/ @'Q\W ault | Hem F
HHTET aTel U FANTOei=y A9 §, U8 SRT GTd gier 81

1. Aedes mosquitoes/ TSI 3
2. Plasmodium falciparum/ WSHITSTH hedToRd




3. Anopheles culicifacies/ TS G UIS
4. An. Fluviatilis/ T, Tfaufeferyd

Correct Answer :-

« Aedes mosquitoes/ TSIl 3]

12) Polio virus entered in the body through:/ Tifera AU IR A F Hreny I wa=r &l &
1. Mosquito bite/ H=X & Ppled

2. Infected food and water/ Thfird HIH 3R S

3. Cough/ @

4. Dog bite/ @Aﬂ & Pled

Correct Answer :-

« Infected food and water/ TshTad HIH 3R &

13) Which of the following is not a problem of pregnancy?/ 378 ¥ S THITRIT $1 JHHT 81 82
1. Nausea and vomiting/ ISTRaT 3R Iafed
2. Teeth decay/ ald T8

3. Constipation/ des

4. Oedema/ TSHT (A THA BIF I I Joi-)

Correct Answer :-

e Teeth decay/ ard SR

14) Cretinism is a disorder in children born to mother who had a deficiency during adolescence
and pregnancy of-/ Pl (SISarHdT) TS faPpR & St fruiRTawT 3R Tufawr # P FHN I
HfEa 78 Arar A o T8 | g 2

1. Calcium / Cae

2. Iron / 3IORA

3. Phosphorous/ BRBRY
4, Todine/ 3MAISH

Correct Answer :-

o Iodine/ 3MAISH

15) Integrated Child Development Services (ICDS) was started on:/ GHf&d a1a fawr Jarsi
(3¢S ATgTS STAYHE AfAAW (ICDS)) BT IRH DI gaAT UTI

1. 2nd July 1975/2 1S, 1975



2. 2nd August 1975/2 31T, 1975
3. 2nd September 1975/2 R, 1975

4. 2nd October 1975/2 3HdgsR, 1975

Correct Answer :-

» 2nd October 1975/2 3dgsR, 1975

16) Tuberculosis is an infectious disease caused by the:/ ﬂﬁ?ﬁﬁﬁr\‘[ TS AHTHS I § o
9 g 8

1. Salmonella bacteria/ JEHT SATI]

2. Bacilus Mycobacterium/ SR ARG ISa IRTH
3. E. Coli/ 5. PIAg

4. Virus/ ﬁGle{L

Correct Answer :-

« Bacilus Mycobacterium/ SR AR e

17) is involved for exchange of nutrients, oxygen and waste products between the

mother and fetus during pregnancy./ TYfaRIT & SR ATaT 3R MRy fQ'I'-‘{[ CACIERNED T-IE;f, STRISH
MR erafe uerdf & fafmg & g ITRerd! g g1

1. Placenta/ THHTeT (@ider)

2. Fallopian Tube/ Balifug= e

3. Neural Tube/ dfeT ATl (=43l <J9)

4. None of the above/ ITRIad & I ®1g Tal

Correct Answer :-

« Placenta/ T (@@?T)

18) According to ICMR 2010 additional calories and protein respectively required for an expectant

mothe%are-/ ICMR 2010 ¥ 3R MHadt afgen & fig smawgs sifalvad Fais ik MidT &Y arEne
HHT: B-

1. 650 Kcal, 15 g/650 el HaRt, 15 I
2. 550 Kcal, 10 g/550 foral e, 10 U™
3. 450 Kcal, 27.2 g /450 fbell @R, 27.2 T

4. 350 Kcal, 27.2 g/350 fbelt @R, 27.2 I

Correct Answer :-

« 350 Kcal, 27.2 g/350 f&at FaRl, 27.2 M



19) The important minerals within bones are:/ 'a'%‘lﬁ H UI¢ 91+ ara e e 7
1. Calcium, phosphate and chloride/ SfeRITH, Hithe 3R FARZS

2. Calcium, phosphate and iron/ BfeRIH, HIThe 3R 3RRA

3. Phosphate, magnesium and chloride/ W‘l@ﬁ, iR ShTaEﬁTI?S

4. Calcium, phosphate and magnesium/ HfeRTTH, Hihe 3R AfRRH

Correct Answer :-

« Calcium, phosphate and magnesium/ &R, Bidhe 3R ANRIH

20) The chest in a normally nourished child grows faster than head during the:/ I U T uifta
T B BT P IRM TP RR T 3P aeht T T &:

1. First year of life / Sfia & uyy a9

2. Second and third year of life/ Sfta & fgdia ud qefta adf
3. Adulthood/ TUIRTARIT

4. None of the above/ SIRIgd H I P gl

Correct Answer :-

« Second and third year of life/ Sita- & fgdid Td qitd oy

21) Iodine deficiency in mother during pregnancy can lead to:/THIG®IT # ATaT # MNSH & HY, FT
BRI 7 TH &

1. Low Birth Weight/ S/ & ¥HT YR &H gH

2. Anemia/ THIEET

3. PEM
4. Cretinism and psychomotor defects/ SheHdT (STSaAT) Td AANITAS (THHIER) fAeR

Correct Answer :-

e Cretinism and psychomotor defects/ Pl (STS M- Td TARTATHS (FquaﬁTﬁET) faeR

22) ELISA test is used for the detection of:/ TATSW (ELISA) USV&UT T SUTRT BT Ul ATH &

forg gar 21
1. Hypertension/ 3=Raddd

2. Diabetes/ ﬁﬁﬁ's’

3. AIDS/ TgH
4. Obesity/ HieTdT

Correct Answer :-

« AIDS/ TSH



23) Disorder involves repeated or chronic ingestion of non-nutrient substances which may include
plaster, charcoal, clay, ashes etc. is known as:/ 98 faeR oW aafd IR-IR T &9 7Y 9F UITSH
T, S W, IR, g, 3@ onfe &) W g, gl &

1. Pica/ UTgeT

2. Mica/ 31U (HTSH)
3. PEM

4. PIH

Correct Answer :-

o Pica/ UIghT

24) Which of the following is not a monosaccharide?/ $9H ¥ ®I 91 TH HHIASISS 8] 82
1. Lactose/ AdeT

2. Glucose/ @Tﬂ

3. Galactose/ Tdde IS

4. Fructose/ Thae ol

Correct Answer :-

« Lactose/ QeI

25) Children in the age group 1-5 years of ICDS receive 2,00,000. I.U. of vitamin A solution orally
every:/ ICDS & 1-5 ¥ 3mgaif & g=f ®1 & TR fae1f® A & 9ia &t 2,00,000 I.U. TE gRT 3t
et 81

1. Three months/ <9 A8
2. Four months/ IR HIg
3. Six months/ &: HIg

4. Nine months/ :?H:I'IE

Correct Answer :-

e Six months/ ©: HIg

26) Beri-beri is the deficiency disorder associated with which vitamin?/ 93-3% f&9 faerfiqm @
TrafRrd g b1 PR 82

1. Thiamine/ YT

2. Niacin/ =

3. Riboflavin/ g&tifa

4. Pantothenic acid/ YeRR® g



Correct Answer :-

« Thiamine/ YraA=

27) In India the suggested weight gain during pregnancy is:/ YRd § mHfaRr & ﬁ?ﬂ '\EEITI%H UR

s &

1. 4-6 kg/4- 6 fobum

2. 5-6 kg/5-6 fopuT

3. 11-13 kg/11-13 f&ur

4, 15- 25 kg/15- 25 fan

Correct Answer :-

o 11-13 kg/11-13 f&3n

28) Which among the following cannot be prevented by Antibiotics?/ Eﬁﬁmﬂﬁ APUH

Cafeed gRT el 1 o Wkt 82
1. Measles/ G

2. Tetanus/ feea9 $F I

3. Leprosy/ 8 AT

4. Cholera/ %GIT

Correct Answer :-

e Measles/ IR

29) Influenza is an acute infection of short duration, spreads from person to person by contact
inhalation of:/ S-URIUST S(CUTAlY HT TP NETT JH T 3, S q TS /B W §RT e g s+
F g TP afeT A gk aafad o o &:

1. Bacteria/ Sfiarg]
2. Virus/ faumg

3. Fungi/ ®d&
4. Algae/ PG

Correct Answer :-

e Virus/ ﬁ’ﬁqu

30) The refers to the time from fertilization through the development of the early embryo
until implantation is completed in the uterus/ F1 3 e | AR, SR Yot F fapra A
gId gT, Uiz & JAuur & uftkar gt 8 oM 9 @ At 9eg 9 71

1. Embryonic stage/ YOITaRIT



2. Germinal stage/ SHH® (TR
3. Fetal stage/ ST 31wt

4. Infancy stage/ TaIld dRIT

Correct Answer :-

« Germinal stage/ SR 3T

31) Which one of the following is not a symptom of marasmus:/ Fl'ﬁ'ﬁﬂﬁq WY (GREN ﬁ'lT) Cai
TSP &7 51 07

1. Moon face/ TE-HE
2. Muscle wasting/ ueft e
3. Growth retardation/ q@ ¢t g ST

4. Wrinkled skin/ %f aR @l

Correct Answer :-

« Moon face/ Ig-T&

32) D.P.T vaccine is used for the prevention of:/ D.P.T AR BT ITERT P APUH & ﬁl‘E
o e 8:

1. Polio, Diphtheria and Tetanus/ Tiferal, fewifvar ik feeag

2. Diphtheria, Whooping cough and Tetanus/ %Cfiﬁﬁtﬂ, CAN] @ﬁ, IR fega
3. Tetanus, Tuberculosis and Polio/ e, cTaRGNRN 3R Qiferay

4. Diphtheria, Typhoid and Tetanus/ fewitan, crpizs 3R feeTg

Correct Answer :-

« Diphtheria, Whooping cough and Tetanus/ fStwiifar, w1efl w@ia, 3R feea

33) Which one of the following pair is wrong?/ s‘-ﬁﬁaﬁq—w \‘rﬁST Tad 82
1. Rabbis- Dog/ T - ol

2. Plague- Rat/ T - gl

3. Tapeworm- Pig/ WIdl ¥ - DR

4. Polio- Monkey/ Tiferd! - SR

Correct Answer :-

« Polio- Monkey/ TIferdl - g

34) An average daily milk production for lactating women is:/ &I-QTH BT ?ﬁ 'FI'%FITGﬁ # e aﬁ?
7Y SIS Bl 3



1. 650 ml/650 farc
2. 450 ml/450 farett
3. 350 ml/350 Tt

4, 250 ml/250 e

Correct Answer :-

« 650 ml/650 et

35) A healthy child doubles his birth weight by the age of:/ WX T FT R, @t 31 dh
ITP S F GHY F UR HT SR[AT 81 oIl &

1. Two year/ aray
2. One and half year/ %&Faﬁ
3. One year/ WENT

4. Six month/ 9: HIg

Correct Answer :-

e Six month/ ©: HIg

36) Vitamin D prevents:/ faerfim St - B ABYH HIdl %:
1. Ricket/ WH

2. Osteomalacia/ 3T (SRR

3. Osteoporosis/ JRCATTRIAT

4. All of the above/ Judad Wit

Correct Answer :-

« Al of the above/ udad T+t

37) The number of babies dying in the first year of life per 1000 live births is known as:/ ufd 1000
TG o R Sita- & 9yW a9 | W=+ ara Riggei 31 S@n & HgT ol 3|

1. Infant Morbidity rate/ FdSITd ®UIAT G
2. Infant Mortality Rate/ Tdulld g X
3. Maternal Mortality Rate/ UTq g &)

4. Maternal Morbidity Rate/ HIq 20IdT &)

Correct Answer :-

o Infant Mortality Rate/ Tauild o &X



Which classification identifies type and duration of malnutrition?/ PIH-T1 FEffepor §Cﬁ'ﬁl'UT F PR
3R 3rafyr &Y ugar Har 82

1. Gomez classification/ TS GffeRUT

2. IAP classification/ IAP F¥f{eUT

3. Waterlow classification/ aTc<all aiifeul
4. Welcome classification/ 3@ H TiNcAUT

Correct Answer :-

o Waterlow classification/ grex aiffepor

39) Additional protein requirement during pregnancy is essential for:/ TyfawT & R SavgS
sifafvaa wid= ¥ fore smazas gian 8:

1. Rapid growth of Fetus/ T+ gy @t <ffa gf

2. The enlargement of the uterus/ YRR & PR H ?{@'

3. Formation of amniotic fluid/ 3w TR (TR ® TIsS) & A
4. All of the above/ Judad Wit

Correct Answer :-

« All of the above/ Suad Tt

40) The beneficiaries of the ICDS Scheme is/are:/ ICDS ToHT $T/F ATHIN §/7:
1. Children in the age group of 0-6 years/0-6 TY @1 3T & I

2. Pregnant women / TTHat Afgamy

3. Lactating mothers/ X0 &1 a1 Al

4. All of the above/ Judad Wit

Correct Answer :-

o All of the above/ E'CRjTﬂ Tt

41) Energy need during pregnancy increase because of the additional energy required for the:/

TR & R Fuf P AT 9¢ Il s Fifb & e sifafvea St ariee gt &:
1. Growth and physical activity of fetus/ T fRIg] &t 3fG Td IR TfAfafd

2. Growth of placenta/ T &1 3fS

3. Increase in maternal body/ ATl & TRR T gia

4. All of the above/ ITdad Tft

Correct Answer :-

« Al of the above/ Iudad T+t



42) Cholera and diarrhoea are caused by:/ ?GlT MR T GRT Eﬁf%
1. Viral infection/ fasTu] Tehaur
2. Bacterial infection/ STaT0] TehHUT

3. Worms/ &0l
4. Protozoa/ IS

Correct Answer :-

« Bacterial infection/ STAT0] ehHUT

43) A vegetarian mothers have more chance to getting the deficiency of:/ UHTERY Arar o
@1 HH g B Gura 2fire gt @

1. Vitamin ¢/ fdei®= C
2. Vitamin A/ fae1fd= A
3. Vitamin B-12/ fde1f®4 B-12

4, Iron/ 3TARA

Correct Answer :-

e Vitamin B-12/ fde1®4 B-12

44) Skin-fold calipers measured the thickness of:/ f&pa-Bits Hferad P HicTE ATUd &
1. Protein layer/ U119 &t U
2. Fat layers/ a9 &1 Ul

3. Carbohydrate layer/ HEGRASE BT U
4. Water layer/ Tt &t ud

Correct Answer :-

» Fatlayers/ 941 D Ud

45) Tetanus is characterized by:/ fee=T9 @1 3if¥raeror 3:

1. Muscle rigidity and painful muscle spasms/ ufer | Tearud 3‘(&13?[ Uo

2. Stiffness and pain often begin in the jaw muscles/ UT: STars &1 URMET & H3U T < B YB3 Bt &
3. Pain abdominal muscles/ 33 &1 URMI H g¢

4. All of the above/ Judad Wit

Correct Answer :-

« Al of the above/ Suad et



46) Which one of the following vaccine given as Birth dose (within 24 hours) for institutional
deliveries%:/ TRINTd yal & fore 378 | S19-31 IRAT o & JUG B RIS (24 62 & <) F U A
far wrar 3:

1. Hib/ TSt

2. Hepatitis-B/ gUeT3fc-B

3. Pneumonia/ @ﬁm

4. Lyophilized/ fgH-shIpd (ARAbRTS)

Correct Answer :-

« Hepatitis-B/ 3UCRCH-B

47) During the first two or three days watery and yellowish fluid that comes from the mammary
bland differs from the regular milk and is called:/ Y31t & a1 A = & R vy ufRAAY I vaen
Td far ave 3iman @ it A gy @ i giar g, S9 FEd 8

1. Special milk/ =% g4

2. Brown milk/ Eb‘&l%g‘é{

3. Colostrum/ TN (®IARSH)
4. Cholestrol/ NN

Correct Answer :-

 Colostrum/ Eﬂ“{[& (ﬁ?«h@)

48) 25th February 2012, WHO removed India from the global list of:/ 25 WRa3l, 2012 &1 fay W=
TS (WHO) = HURd &I ot Ay Tt A e far an:

1. Measles endemic countries/ @RI HTHRI dTdl G-

2. Polio endemic countries/ TIferl TETHRT dTdl G

3. Tuberculosis endemic countries/ CIERG AR TETHR! dT G
4, Tetanus endemic countries/ feeTg AgmRY Gl

Correct Answer :-

» Polio endemic countries/ ey IIEF:IR‘:T CINECE]

49) Green Leafy vegetables and fresh fruits are the poor source of:/ il TRIgR fesrai 3R I B
BT ST A 81 &

1. Protein/ UI¢H
2. Vitamin A/ faefi= A
3. Vitamin C/ fae1fd= ¢

4, Iron/3RRA



Correct Answer :-

e Protein/ WA

50) Which programme comes under the umbrella of National Rural Health Mission?:/ PI-I1
ST I IR TR ST & gAY | o 82

1. Todine Deficiency Disorder Control Programmes/ 3Taleld <Adl fa®R fAd=ur sy

2. Vitamin B Deficiency Disorder Control Programmes/ faeifiia B =g-7aT fasR =0 srisH
3. Vitamin C Deficiency Disorder Control Programmes/ faeif= C gAdT fdeR =0 Hrima
4. Calcium Deficiency Disorder Control Programmes/ Hferran gAdl faeR o Hrfey

Correct Answer :-

« Iodine Deficiency Disorder Control Programmes/ 3RS M <Adl fd®R a1 HrisH

51) Which factor affect the low birth weight of fetus?/ ®H-1 FR® TRy R & o7 & T99 FH
YR & YU BT 82

1. Age of the mother/ HIdI G| 3

2. Improper or inadequate prenatal care of the mother/ HIdI Gl Gﬁﬁl‘d 71 3rgafe waqﬁ RGHY ]
3. Both of the above/ ISWRIad Gl

4. None of the above/ IIRIgd H ¥ Pg gl

Correct Answer :-

e Both of the above/ IWRIGd gl

52) A child who is shorter than the expected age group is known as:/ 3raféra 31y it ﬁmmﬁ
T T B ST ST 2|

1. Wasting/ &3t
2. Stunting/ q@-w
3. Underweight/ I ¥ &9 UR

4. Overweight/ TR ¥ 3% YR

Correct Answer :-

« Stunting/ 335

53) Which of the following factor affect the fetal growth during pregnancy:/ Tyfaer & SR TRy
gy # 9f Y 379 A F19-T1 FRS gUIfad Har 82

1. Infection/ shHUT

2. Nutrition/ TYSUT
3. Genetic/ 3TIdfRI%H



4, All of the above/ Judad Wit

Correct Answer :-

o All of the above/ E'Clgﬁlﬂ Tt

54) NRHM stand for:/ NRHM &T X1 =TT &:

1. National Health Mission/ RId B IR (P W@ SHfvr)

2. National Rural Health Mission/ el ¥%d 3 R (ST ATHir Wy 3ifiar)

3. National Reproductive Health Mission/ T=Id RuTsfacd ge A=A (ITTT U WY HI)
4. National Regional Health Mission/ Tl Yed sl AR (ST & A o)

Correct Answer :-

« National Rural Health Mission/ I=Iel ¥ g fARM (IPTT i Ty 3ifivam)

55) Newborns lose heat rapidly after birth so it necessary to keep birth room temperature:/ S
F TG Aaurd RIgai F IR A ST BT avlt | T SIT 8, FAFAT 57 & B R IGAT ATIAD
ﬁ?lT %:

1. At least 15 °C/ HH ¥ HH 15 °C
2. At least 25 °C/ &H T &HH 25 °C
3. At least 35 °C/ &9 I &HH 35 °C
4, At least 45 °C/ HH T BHH 45 °C
Correct Answer :-

e Atleast 25 °C/ HH ¥ &HH 25 °C

Topic:- Grad_General Knowledge and Logical Ability

1) The disease 'beri beri' is caused by the deficiency of: / 8 39 P faerfiE &t st @ @T‘IT %
1. Vitamin B / faeT® B

2. Hormones /E'I'J:lﬁ

3. lodine/ TS

4. Iron / Fﬁg[

Correct Answer :-

« Vitamin B / fdefi= B

2) In how many categories of awards is the Kayakalp scheme categorized? /

PRTH o1 & PRI i foraq AN § Sfdrra foran wam 82



1.1
2.2
3.3

4.4

Correct Answer :-
e 3

3) The additional structure which provide nutrition is:/ Sifafyed =T &I Yur CaRL LI YUald Bl

1. Amnion/3cd
2. Chorion/SIRTg
3. Umbilical cord/ATTHeRT

4, Placenta/ 3{UR]

Correct Answer :-

e Placenta/ 3{UX]

4) In which year was the Tribal Cooperative Marketing Development
Federation of India Limited set up by the Government of India? / s<da
ST GghTl fAqore faeTer Agreer &7 AT 9Wa 9 9 ®ia9 a9 § AT or?

1.1987
2. 1988
3. 1989
4. 1990

Correct Answer :-

- 1987

5) If 'English’ is called 'Hindi', 'Hindi' is called 'French’, 'French' is called
'Gujarati’, 'Gujarati’' is called 'Bengali’, then which of the following is local
language of gujarat?/dfe ‘3RS’ &) ‘&) a1 wrar g, & & ‘W’ oer wrar g, b
aﬁ‘ggwﬂ’mm%,‘gmﬁ'aﬁ‘@mﬂ'mm%,aﬁﬁqﬁﬁﬁﬂvﬂwaﬂw-—ﬂn
HTYT 52

1. Bengali / STITelt
2. English/Gi'aTrﬁ
3. Hindi/fgd!



4. Gujrati/? STt
Correct Answer :-

« Bengali / STl

6) DIRECTIONS: Find out missing number from the figures given below./

o e & wih snefaat # g Tem yra P

54 30 112 42 7 28

N g \K - /
N / i )// \y/

1. 76
2. 66
3.10
4.9

Correct Answer :-

7) Which of the following humbers have been allocated by the Government of
India as the Women Helpline Number for all States/UTs? / Y% T3/ oanfaa
TR % T AT THTE F FIAH G&AT T HigAT goddTed da¥ & €9 § safeq far?

1. 112
2. 108
3.181
4.1097

Correct Answer :-

- 181

8) Which one of the following options is/are true? / % # & Fi=4T fAweq @&l g2

1. The Hindu Succession Act, 1956 provides daughters the right to ask for sustenance
from a joint Hindu family/ &% Saarfamme stfafaas, 1956 afedt &1 U §3w fgrg TRaw & Fad
TRt 7 SATARTE |/IT Thedt 8

2. The Hindu Succession Amendment Act, 2000 gave daughters the right to inheritance
with her male siblings / vz STIfaraTe Tema srfarfaas, 1956 & gIT et T oa= 9=t % a1
IERGEEICICEIES AL AEDIRIE ]




3. Both of the above / 39Zi<F =1
4. None of these / Ta® & FI< gl

Correct Answer :-

« The Hindu Succession Act, 1956 provides daughters the right to ask for sustenance
from a joint Hindu family/ &g saterame sfafeas, 1956 afeat #ii uF d4< forg TRam & Fad
TRt 7 ATARTE |/IT Thedt &

9) Which of the following options is not correct about the Sexual Harassment
of Women at Workplace (Prevention, Prohibition and Redressal) Act, 2013?

e & o FIaT AT 7 wrAeqS 9 Aw e (Fareor, gfaae sic gfaq) sfaf=, 2013
Traet fadeT 98T T8l 52

1. The Presiding Officer of the Internal Complaints Committee must be a woman/smafi®

forTara wfefa & srefrarar wigaT geT ==y

2. ‘Workplace’ would not include dwelling place or house / ‘FEHEI’ | @[ AT =T ATHHA
T &

3. Every district officer shall constitute a Local Complaints Committee / e foraT stfarrm<r
T U TITAT Frraa AR T TS F2AT T2

4. None of these / =7® & T gl

Correct Answer :-

« ‘Workplace’ would not include dwelling place or house / ‘FTHeIa’ § ATATEg AT =92 ATHA
T &

10) DIRECTIONS: Choose the missing terms out of the given alternatives./

frrder: fou e fapedt 9 @ gt vl &1 91 &3
XX __ Y _XYYX_Y

1. YYXY

2. YXYX

3. XYYX

4. YYXX

Correct Answer :-

e YYXX

11) According to the National Food Security Act, 2013, which of the following
options are true? / TET T AT ATATIAH, 2013 F¥aeefT 1 faweui & & F4T G981 872

1. It extends to whole of India / 78 T ART H A1 &

2. There are 5 members in the State Food Commission / 717 @Ter afHfd § 5 93+7 gId &



3. Both of the above / 39Zi<F =1
4. None of these / =A% | #IE Al

Correct Answer :-

. It extends to whole of India / g T¥ 94T<d & &1 §

12) DIRECTIONS: In the question given below, there are few statements
followed by few conclusions. You have to take the given statements to be true
even if they seem to be at variance with commonly known facts and then
decide which of the given conclusion logically follow(s) from the given

statements./ & R o 0 uxA & $© FUF 3R ITF 915 9 fwd faw e g1 s
feu T HYA FIY ATEAT 8, HA 8 A FdgTa aa A fH= udta g1a 8 | 3+ freeut ) ufew
ﬁwgg&ﬁq%mwﬁwﬁﬁﬁaﬁﬂmmﬁ' FU F IR0 HRdT §, ATg AdATd 9%
O |

Statements:/HYA:

All birds are parrots/ﬂﬂ-ﬁ q&-ﬁ,ﬁ?

All parrots are farmers/ﬂ‘l-ﬂ ?ﬁﬁ, ﬁ)‘x‘lﬂ%

Conclusions: /f-w:

I. Some farmers are birds/$® frar, ueft €

II. Some parrots are birds/W?ﬁﬂ, U&ﬁ%'

1. If only conclusion I follows /WWWI S@TUTW%

2. If only conclusion II follows/afg dad fsw 11 HENTUTW%

3. If either conclusion I or II follows/af¢ a1 sy 1 41 11 G{WW%
4. If both conclusion I and II follow /3¢ fswd I 3R 11 AT G@TUTW%

Correct Answer :-

. If both conclusion I and II follow /af¢ FIshY I iR 11 HI SFIARUI HRd &

13) According to the Commission of Sati (Prevention) Act, 1987, which of the
following women can be called ‘Sati’? o<t afafa (Jsram) srfarffam, 1987 F siqsta e &
q FI9 AIZATSH 1 | T A | TE@T AT ThaT 872

1. A widow being burnt alive along with the body of her deceased husband forcibly / T
HigAT et 7o g 9 F a7 & 9T STaawd ool QAT AT @ g

2. A woman being burnt alive along with the body of her relative voluntarily / T ®fg«T
TSIahT ST s TFaeell % a8 % q1T 39 oG STl (o7 ST @l &

3. Both of the above / 39k =T
4. None of these / =% | #I< 7l

Correct Answer :-



« Both of the above / 39TI=F AT

14) If an elephant is sold at a gain of 8% instead of at a loss of 7%, then
seller gets Rs.105,000 more. The cost price (in Rs.) of the elephant is: /!Tﬁ{t{ai
10t B 7% I B 3UET 8% TTH WX 34T W1, a1 fashaT &I U 105,000 A yred gidt

a1t &1 g (3. H) 7
1. 400,000
2. 660,000
3.700,000

4,760,000

Correct Answer :-
« 700,000

15) DIRECTIONS: Which of the answer figures is exactly the mirror image of
the question figure if a mirror is placed on the line AB?/ fFdr: g & @ &1 Tt

IR SMTHTd U MHfa BT gyur ufafaa gift afe Thedur ¥@m AB WR I@T1 1?

Question Figure fl TR M

ALY g

Answer Figures / Jca{ HThicm

Bzl B
(1) (2) (3) (4)

1.1

2.2
3.3

4.4

Correct Answer :-

16) Which layer is responsible for process to process delivery?/ I ;’L‘ﬁ@?
fediiadt & foe o W dur forer &

1. Physical layer/ ftfSiea oaR
2. Data link layer / STeT foies TR
3. Transport layer/ TUIC TR



4. Network layer/ Jeddh AR

Correct Answer :-

. Transport layer/ TRIAE TR

17) A computer on internet are identified by : / $e¥e R TP HHex
gaTT ST §

1. Street address/ 7Tl &1 Udl

2. IP address/IP Udl
3. E-mail address/ 'sc—ﬁﬂtl?ﬂ

4. None of these/ s:l'a[ I ﬁ'sc :|3°f

Correct Answer :-
« IP address/IP Udl

18) Which of the following statements is/are not true about the Indecent
Representation of Women (Prohibition) Act, 1986? / wfgaT &7 srsg wiaf=teca (foe)
s, 1987 gvaweft H=4T foreeT Tt T81 87

1. It extends to whole of India, except Jammu and Kashmir / g sfafaae S i wedie &
AT T AT H AT &

2. Representation on any ancient monument cannot come under this law / B3 sr=h=

T | AT AT HE g =7 atafaaw & siata T8 o Fendt
3. Both of the above/3aaI AT
4. None of these / =% | &I A&l

Correct Answer :-

« None of these / za® & &g &l

19) For how many maximum years can a parent or guardian be imprisoned for
promoting or permitting solemnization of child marriage under the Child

Marriage Act, 2006? / st foraTg srfafaas, 2006 ¥ srqam arer fraTe & daenfasar v agmEr
I IT ATATT < & Forw Arar-faar a1 sfsrsmass #7 forae sfeeras aut 7% g FFaT S gar 82

1.2
2.3
3.4

4.5

Correct Answer :-



. 2

20) When was the Scheme of Top Class Education for ST students introduced?
/ T TASTAAT % T T FATE TUeAT 7 ST 7 AT FiA9 99 9 63T T97?

1. 2005-06
2. 2006-07
3.2007-08
4. 2008-09

Correct Answer :-
« 2007-08

21) A group of men decided to do a work in 15 days, but 10 of them absented
themselves. If the rest of the men finished the work in 25 days, find the
number of men that had initially decided to do the work./ &f&Idl &1 T& ¢ fHdt
&1 B 15 o § T H1 o1 fAay wwar 2, 398 ¥ 10 afdw sgufkie 8 oma 81 afg
Y HAfda AT 1 B 25 o1 & W1 HRd €, a1 Afeaal o G&i R A fHadt 02

1. 18 men/ 18 3MTGH!
2. 25 men/ 25 STGHT
3. 32 men/ 32 SfTcH!
4, 35 men/ 35 3McHT

Correct Answer :-

« 25 men/ 25 3cHT

22) Deficiency of Tocopherol leads to sterility in males and females. The popular word for Tocopherol
is 2 /AYPIhRrd @ B  goul iR afgarsi # Sz &1 3R §rar 31 Srehid & fre
GIEZ DR

1. Vitamin B/ fdeTf#= B
2. Vitamin K/ fae1fim K
3. Vitamin E/ faeIfiA E
4. Vitamin ¢/ fae1fi= ¢

Correct Answer :-

« Vitamin E/ f9eTi9 E



In PowerPoint, Good design determines:/ U Wige H, 33T fwirg fAuifya & g:
1. Credibility/ fay==ad

2. Readability/ TSI

3. First impression/ Ugdl UHTd

4. All of the above / Iudad q+

Correct Answer :-

« All of the above / Iudad q+f

24) Which of the following will be the basic unit of the scheme Saanjhi? / A& &
q et TISET T g THTS FAT g2

1. Constituency / F1a &=
2. Village / I
3. Block / =T

4. Gram Panchayat / 19 9=maq

Correct Answer :-
« Gram Panchayat / 319 999

25) Walking at 4/5 of her normal speed Aaradhya takes 2 hours more than the
normal time. What is her normal time?/ 3= ATHTI TIfd $t 4/5 7Tfa I Tad §C
SRTEAT YA HTHT THY F 2 el 3ffie vy Adl 8, 9 SIS JrH=a JIHY |1 82

1. 12 hours/ 12 ©cl
2.9 hours/ 9 dcT
3. 10 hours/ 10 deT

4. 8 hours/ 8 ©cl

Correct Answer :-

« 8 hours/ 8 ©cl

26) How much percentage of the cost of resources is provided as grant by the
Ministry of Tribal Development to the voluntary organizations working for
Scheduled Tribes in the non-Scheduled Areas? / i=-sqg~d &= § AT STASATIAAT
F oI T/ T a1 S f=a® SsA1 i GO & ARG T a1 Traerd ST H1d §31eaT g
AETH & &9 # F7 Srav 87

1.70
2. 80



3.90
4. 95

Correct Answer :-

27) Who will be the Nodal Ministry for the implementation of Beti Bachao Beti
Padhao Scheme? / & T3 91 UETN TISAT o FTAT-ad & 1T TS HTAT H 99T T2

1. Ministry of Health and Family Welfare / ¥aTe=T 3T qfiETe FeaTor AT
2. Ministry of Human Resource Development / TH& HHT4 farse 531909
3. Ministry of Women and Child Development / @fgaT td ater fasrme 531

4. It will be done jointly / g 9<% ®7 & 3T SITUIT

Correct Answer :-
« Ministry of Women and Child Development / ¥f2«T Ta a1er fame #amer s

28) In how many years will Rs.25,000 amount to Rs.27562.5 at the rate of 5%
per annum when compounded annually?/ faa aul & +ud 25,000 &1 IR 5%
a1t Tepgfs I Ft X | W 27562.5 7 AT

1.3
2.4
3.1

4.2

Correct Answer :-

29) Which statements about IPv4 and IPv6 addresses are true?/IPv4 3R IPV6
Ud & IR # P9 AT HY9 99 &

1. An IPv6 address is 128 bits long, represented in hexidecimal./3sutal 6 Uar 128 fae d&r

BT ®, O fop RS ine § exifar Srar |

2. An IPv4 address is 32 bits long, represented in decimal./3Tsutd! 4 Udr 32 foe @a1 81T |,
S for Sefiua o g=ifar orar g |

3. Both of the above/ SURIad &I

4. An IPv6 address is 32 bits long, represented in hexidecimal./&ﬂﬁdﬁ?ﬁ 6 gar 32 fae dar

glar g, o fo sarsdfina o guiar Srar B

Correct Answer :-



» Both of the above/ IR gl

30) What age-group of children is ensured free and compulsory education
under the Right to Education Act, 2009? / 7 siiX st{aTd arer f2rer (rdis)
srferfm, 2009 ¥ siavd HIY SY-aT & TG HI (7 T A faram & STUsh?

1.6-12 years / 6-12 a¥
2. 6-14 years / 6-14 a9
3.6-15 years/6-15 a9

4. 6-18 years / 6-18 a9

Correct Answer :-

« 6-14 years/6-14 99

31) Glycogen is often known as:/ TATIHIS P! HTHTAT BT SITdT &:
1. Animal starch / SI=q L]

2. Insulin/ Eﬁﬁ“l:f

3. Alginic acid / 3{eTSll=dh ST
4. Cellulose / HegaNy

Correct Answer :-

« Animal starch / SI=q T

32) DIRECTIONS: Study the following pie chart carefully to answer the
question given below./ . fFufafaa ‘Jﬁ{ﬂ'lf?ﬂ iﬂﬂ‘]ﬁﬁ? JgT R AR T uy &
IR diferg

Percentage of expenses on various items during book production and sale/

T & Iare oM faet A fafira wel w @ &1 ufawe

Advertising :usnﬂ'ﬂﬂ-_._.___‘_‘___H
wd, 18% —

Bireding costf i'E'ﬂ‘:H'
wd, 18%

Boyalty cosy/ HTER
e, 15%

Mizcellaneous cost/
fafrr =, T

Paper cost/ TS and,

T%



The ratio of expenditure on miscellaneous and printing cost are respectively:/

fafay ok fifén @ w arg &1 wa=t: Srqura 8
1.1:3
2.1:5
3.3:7
4.2:5

Correct Answer :-

33) A sum of Rs.295 is divided among A, B and C in such a way that A gets
Rs.10 more than what B gets and B gets Rs.5 more than what C gets, then
ratio of their shares is:/ Ud 295 &I A, BdYT C # 59 IRg dicT8 % A & B A T
10 3w YT 8 YT B &t C A T 5 3ife ure g, ot 39 &=l &7 3rurd &:

1.22: 20: 19
2.16: 17: 18
3.11: 14: 19

4,15: 18 : 13

Correct Answer :-
e 22:20: 19

34) Which of the following had launched the Swachhta Udyami Yojana? /
TI=IAT STHT AT T 1 oy a2

1. Ministry of Health and Family Welfare / T&aTe=1 Ua qRETT FedTor HATAT
2. Ministry of Tribal Affairs / STESITA T 1 H3TT

3. National Safai Karamcharis Finance & Development Corporation / TTgT IHT FH=TT O
LEREEDGRERES

4. Ministry of Urban Development / erg<T farame w=merr
Correct Answer :-

« National Safai Karamcharis Finance & Development Corporation / Trgi H&TE FHATT A
LEREEDGRERES

35) Emergency hormone is-RAPeHTe B"I"Hﬁ %—
1. Aldosterone/ Q@;RT‘R-H
2. Parathormone/ URTUTHTT



3. Adrenalin/ leﬁi?ﬂ
4. Thyroxine/ YRRITRI

Correct Answer :-

« Adrenalin/ TgIHeH

36) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ fodan: fFafafed vy o yyars e ?) & =
TR AU B T HI ST ?

340+17 8% 9=?
1. 425
2. 360
3.392

4. 395

Correct Answer :-
« 360

37) Eshaan starts from his house and walks 10 km in South direction, then he
turns right and goes 6 km, again he turns right and goes 10 km and finally
turns right and goes 6 km. At what distance he is from his starting point?/
SR, 3T TR A H3Td HRal § 3R 10 et gferor femm &6t ok =eran 8, PR ag g gear @
3R 6 foptft Taran 8, 98 fihR TiY Yoot 8 3R 10 et awar & iR 3fa &, ag glu gsar e

3R 6 foptft Terar 81 98 orom URTRI® g A fpai gt W 32

1. 8 km/8 fodt

2. 10 km/10 foeit

3.6 km/6 fot

4. At starting Point/URfR® fdg

Correct Answer :-

« At starting Point/UR®® fdg R

38) A popular microbial insecticide is: / Wﬁﬂ"ﬂﬁﬁ ﬁ&qﬁﬂﬁﬂ PleArn %
1. Candida / atal

2. Yeast/ 4R

3. Bacillus thuringiensis / SR Hﬁﬁﬁﬁlﬂ

4. Staphylococcus aureus / REHAIPIIHT 3T



Correct Answer :-

« Bacillus thuringiensis / SR gﬁﬁﬁﬁm

39) Oxygen is transported in blood mainly by-/ Yd<d ¥ TR U'E'il'l'&‘: iG] %—

1. Leucocytes/ W gI_T
2. Erythrocytes/ SISUNTSE GRI
3. Blood plasma/ Xekd WITSH gRT

4. Thrombocytes/ UTHAITSC GRI

Correct Answer :-

« Erythrocytes/ ZUNTZC GRI

40) Which one of the following figures represents the relationship

among Carrot, Food and Vegetables?/ﬁﬂﬁﬁﬁﬁ-w ammvr\r, yiorH 3R Tfesral
¥ &1 98t ara #Y gxifar @2

1 @
&3
O
43

Correct Answer :-

41) What should be the population of a Rurban cluster in plain and coastal

areas? / AT 3T TET &A1 F T FATL FT AT a1 gt ATRTU?
1. 15,000 - 30,000
2. 20,000 - 40,000
3. 25,000 - 50,000



4. 30,000 - 50,000

Correct Answer :-
« 25,000 - 50,000

42) When was the National Scheduled Castes Finance & Development
Corporation set up? / TgF sMg=a ST & Ua e Ao &7 w9 wariaa R w=ar?

1. 1989
2. 1990
3.1991

4. 1992

Correct Answer :-

- 1989

43) To which of the following is the Hindu Succession Act, 1956 applicable? /
g STt srfafaam, 1956 A% § & o =fpal uX AT grar g2

1. Jews / T[T FHTST & a1t

2. Scheduled Tribe / sg=d ST
3. Both of the above / 392 T
4. None of these / =¥ & s 7!

Correct Answer :-

« None of these / z7® & #I$ 7l

44) A is father of C and D is son of B. E is brother of A. If C is sister of D how is
B related to E?/A, CHFTUAT8 3R D, BHTTARIE, ABT U 81 TG C, D HI g2 dI B,
E 9 P ueR dafita g ?

1. Sister-in-law/ e/ HTHt/arcH
2. Sister/dg

3. Brother-in-law/Sa3/SilT/ITell
4. Brother/ﬂ-ﬂ'sC

Correct Answer :-

« Sister-in-law/7¢/yTHl/arer



To create an interactive Pivot Table for the web, you use a Microsoft Office

Web component called? / 99 & fo@ ge’faea fiate arRolt 991 & o, sy
U AT pw 39 Ucdh BT IUTRT Hd 82

1. HTML/ T 3t W 3d

2. Pivot Table Field List / fiale difersT wice gt
3. Pivot Table List / f4dlc aifer fere

4. Pivot Table Report/ fidle drfeemr Raré

Correct Answer :-

« Pivot Table Report/ fate drfaem Rard

46) Under the Juvenile Justice (Care and Protection of Children) Act, 2015, in
case of a heinous crime the Juvenile Justice Board shall conduct a preliminary
assessment with regard to his mental and physical capacity if the child has
completed or is above years of age. / fei¥ =T (sTorhi Y I@LE 3T §Term)
At =aw, 2015 F FTAT TS ITAF 6T g IqT ITH ATYE BT AT FheN< =TT A€ T ST
FITE T I Ferieor AT g |

1. 15

2. 16
3.17

4. 18

Correct Answer :-

47) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ e frrafafea vy o vyare e ) & R
TR STHIT B HT HIF ST ?

450 x 9077717 = ?
1. 5200
2. 5650
3. 5803
4.7255

Correct Answer :-

- 5803



Enterokinase is responsible for the conversion of:/fa & A forad uftad= %ﬂ mﬂﬂgﬁﬁ mlg
T 82

1. Trypsinogen into trypsin/ E‘@Fﬁ@q Cal E@F{ |
2. Pepsinogen into pepsin/ U oH &1 UfkE |

3. Prorenin into rerin/ AR I H

4. Caseinogen into casein/ SR BT ST A

Correct Answer :-

e Trypsinogen into trypsin/ E‘@Fﬁ@q Cal E’@F‘f |

49) Sonu scores 25% marks and failed by 15 marks, while another student
who scores 45% marks gets 5 marks more than minimum pass marks. The

minimum pass marks is: / [ ®I 25% 3iF U gIdT & 94T I8 15 3P| o Srgaiiof gt
Tl B, SIaf% T o<1 BT R 45% i I gt 8, Sl 89 & firg smawas graw e d
5 3i® TP 3P YT HaT g1 STVl B & T Sraxas gAaH 3@ &

1. 40
2. 60
3.30

4. 50

Correct Answer :-

« 40

50) Which of the following is not a type of relationship that can be applied in

Access database: /370 T B9 T Y TR ST A @r] ) fHar & T 3
1.0One to One /99 ¢ ad

2. One to Many / a:{'g.:fl'rﬁ

3. Many to many/ ﬂ=ﬁ§ﬂ=ﬁ

4. All of the above/ Iuad Tt

Correct Answer :-

« All of the above/ Iuad Tt

51) How many triangles are there in the figure given below? /a & =it sepfa o
Pry=it $t T feat 82




1.6
2.7
3.8

4.9

Correct Answer :-

.« 7

52) Landscape is?/dS%PY &2
1. Page layout/Udl T3M3c

2. Paper size/ BTN DI DR

3. Page orientation / BT BT IHHIHIUI

4. Font style/ i< et

Correct Answer :-

- Page orientation / BRI 1 IHHIHRU

53) Which answer figure will complete the pattern of the question figure? /f7¥

T | B 3 IR Spfa wy i o guf s

4.

Correct Answer :-




54) The first number is thrice the second number and twice the third number.
The average of these numbers is 33. What is the value of the smallest

number?/ WY HE&HT G €T & fai[FT § 3R Tl 6T $T SR 71 57 H@ATSH BT
3NTd 33 g1 HTH DI J-AT BT HIH HT 82

1. 18
2.21
3.27

4. 36

Correct Answer :-

55) Which of the following acts is included in the definition of domestic
violence under the Prevention of Women from Domestic Violence Act, 2005? /
T BT & wigar gxerr Afdfaaw, 2005 ¥ Siasta Ae & § 9T BT w3 9T % =TT § o a9har
)

1. Insulting her for not having a child / sgT T g9 & HTLT ATATAT FLAT

2. Harming her relatives to coerce her to pay for dowry / 385 % forT FeaedT T I 39+

Freqrart &1 g ag=mT
3. Both of the above / 392 a1
4. None of these / =% | #IE 7al
Correct Answer :-

« Both of the above / U<k 24T

Topic:- Grad_Managerial Skill

1) Which of the following is a primary group?/ Eﬂ'ﬁ | ﬁqwmmw%?
1. Political group/ ISHfa® THg

2. Factory/ Thaad!

3. Family/ IRaR

4. School/faeTe™

Correct Answer :-

. Family/tlﬁ_q"R

2) A leader dictates to the members is known as a:/ Wﬁgﬂﬁéﬁaﬁ ﬁ?IT/
Aqapdi B 84 3



1. Autocratic Leader/ R =T
2. Democratic Leader/ @il Adl

3. Laissez-faire Leader/ Jgxaadt Far
4. Professional Leader/ URIaR ﬁ?ﬁlﬂv_cﬁ/elﬁT

Correct Answer :-

. Autocratic Leader/ R Adr

3) The book leadership in voluntary organization is written by:/ SIR" 39
dedt AFAESRE e e F fordt

1. A.F.Zanderr/ T.U%, Siex
2. H.B.Trecker/ Ta.d. ¢

3. Brian O’ Connell/ SITd- 3 pId

4. A.A.Livereiht/ T.T. foasie

Correct Answer :-

« Brian O’ Connell/ ST 30t B

4) Bulletins, leaflets, circular letters, posters, fair, exhibitions, radio are the

media of:/ gafed, Td, ufvud, Wiver, A, wexif~ai, Isat F HILH §:

1. Public communication/ JTdwive TER

2. Official communication/ MYHIRG TR
3. Group communication/ IHg JdR

4. Mass communication/Sq IdR

Correct Answer :-

« Mass communication/SH JdR

5) “The group with which the individual feels identified, the norms and
objectives of which he accepts”:/ “dg d¥g for =afaa sro=m ar=ar 8, e ardst
3T I 24l B 98 Wprar 87:

1. Group based on compulsion of participation/ gHTRIAT ! ST TR YR THg
2. Reference group/ o qJHg

3. Group based on social class/ ATHIfS® T TR TR IJHqg

4. Passive groups/fAfshd ¥ag



Correct Answer :-

« Reference group/ Ty 9z

6) The community development programme aimed to socio-economic
transformation of rural people was launched on : / ATHIOT AT & JTHTSISD-
e ufvads wR aféra Iqera faera srdwu DI AR fomam T o

1. October 2, 1951/2 3E¢sR, 1951
2. October 2, 1952/2 3fageR, 1952
3. October 2, 1953/2 3dsR, 1953

4. October 2, 1954/2 3{agay, 1954

Correct Answer :-

« October 2, 1952/2 3dcsR, 1952

7) Action-reaction interdependence in communication is called:/ S9R ¥ forar-

wfafrar sraffilkar &t wea &
1. Credibility/ fay==gar

2. Feedback/ ®lsa (TFHaM)

3. Message treatment/ To% HAER

4. Fidelity/ T

Correct Answer :-

. Feedback/ Bigd® (TAMHATM)

8) By which year the millennium development goal of reducing world poverty

by half is aimed?/3fY® FIdTaT B g1 T YT TR F VAT AP &g F frg af
a% gy forar &= 82

1. 2020
2. 2015
3.2010
4. 2012

Correct Answer :-

« 2015



are characterised by intimate, face to face associations and
informal personal relationships:/ BT AfHe&OT § 33, ATHA-TTHA BT
STd qUT UG FfaaiTa T

1. Primary and Secondary groups/ Wuflid Ud fgdiae wag!

2. Formal and Informal groups / 3= Td SU=ie THg!
3. Both of the above/ IURIad Gl

4. Groups based /Hqg 3TYTRd

Correct Answer :-

« Primary and Secondary groups/ Wufli® T4 fgdias F‘:@

10) Communication is the subsetof _ :/HaR &I S %:
1. Diffusion/ IEESEU

2. Channel/ HI®IH

3. Transmitter/ U8 (ZITHCR)

4. Receiver/ T dl

Correct Answer :-

« Diffusion/ faaxur
11) Leader ship is a function of :/ Aqd, BT UPTY 8:

1. Group/ ¥Hg
2. Individual/ fed

3. Category/ 9t
4. None of these/ 378 T IS gl

Correct Answer :-

o Group/ 99z

12) According to Berlo, the communication process has:/ gl B IR, §OR
wforar o B &

1. 6 elements/6 Ych
2. 4 elements/4 Uch
3. 8 elements/8 Uch

4. 10 elements/10 Ych



Correct Answer :-

6 elements/6 Ych

13) Community development projects were strated on 2nd of October, 1952,
then the number of blocks initially covered was 1/ dYara faora

IR 2 3agay, 1952 &l AR &I T 8| 39 907 IR § Far 5 ™ Gt ot
dgern_ @

1. 45
2. 55
3.65

4.75

Correct Answer :-

14) Social mobilisation also reflects changes in society, such as:/ STHT® crq
e & ufvad+ ot ufafafraa s g, 99:

1. Urbanisation/ G HRU
2. Industrialization/ 3N IHT
3. Both of the above/ SWRIad

4. Social stratification/ gTHIN®G TROT

Correct Answer :-

. Both of the above/ SWRIad gl

15) During the first five year plan, the highest priority was accorded

to :/Ugel Uiy AT SR, Y Haiw wrufhrear § w:
1. Agriculture/ $TY

2. Industries/ ST

3. Defense/ &1

4. Commerce/ S

Correct Answer :-

» Agriculture/ ?fﬁ

16) Leadership is the product of i/ ﬁﬂ?q' DI 3dlq %:



1. Position rather than knowledge/ 34 P! 99119 Ug
2. Knowledge rather than position/ Ug &1 §SI1g 34
3. Position alone/ $ad Ug

4. Knowledge alone/&dd I

Correct Answer :-
« Knowledge rather than position/ UG &1 §olld 4

17) An outstanding of the role of the local leader is to: /g AdT/Aqad®d! Pt
TSP SATYURY YT 8 :

1. Good communication abilities/ 33! TR ATl & ol BT
2. Authonatative/3MfEeR-gad g

3. Aggressive/ HIhTHD gl

4. Partial/J&raTdt g1

Correct Answer :-

. Good communication abilities/ 3{=8! TR A3 ¥ god BT

18) Development of leadership is:/ Aqd &1 fad, e
1. A means in programme building/W gt & v Tmem

2. An end in programme building/ HRiHH fAHfor &1 Udh 3 (@T)

3. Both a means and an end in the process of programme bundlng/ao‘rd?qﬁﬂfwﬁ
ufsrar & T T1eE 3R T 3, Sl

4. Neither a means her an end in the process of programme building/Wﬁﬂ‘fUTﬁ
uferar & 7 < IeM R 7 8 o

Correct Answer :-

. Both a means and an end in the process of programme building/ ®Td%H fAH0T &1
ufehar & T A1eH 3R Th 31, qHl

19) A professional who influence innovation decision in a direction deemed
desirable by the developmental agency is : /fawTa ot gy qifea ari
Tt fe=m § Tavad & fAvla &t guifad $9 arer u=eR AT &

1. Innovator/ TavddD

2. Opinion leader/ Hd ei’rjc_chﬁ
3. Change agent/ URaad- 3if¥epdf



4. Group educator/dHg fRiere

Correct Answer :-

. Change agent/ afRad 3if¥edf

20) By which of the following year the targets aimed under Bharat Nirman is to

be achieved?/4Rd fwfur & @gal f forw af 9 s1fa far @i @2
1. 2008
2. 2009
3.2010
4. 2011

Correct Answer :-

« 2009

21) Community development project was started as a result of 1/

TYera fawra ufvare F UGS R™ ot T 6
1. Royal commission report/ AT HHIRA DI ﬁcﬁ?f

2. GMF enquiry committee report/ GMF Sid 9fifa &1 faid

3. Educational commission report/ fRI&T 3manT &} faid

4. Nalargarh committee report/ ATaRTE AfHfd Pt A

Correct Answer :-
. GMF enquiry committee report/ GMF Sirg Ifafa &t faid

22) The entire nation was covered with community development programme
by the year :/ad TP QX Y DI GYGH faeTd STdHH gRT SR Y fora
T YT:

1. 1955
2. 1958
3.1964

4. 1968

Correct Answer :-

- 1964



Campaign postcards have been found to be very useful communication
material in getting attention and positive response from the villagers in

special campaign. The reason being:/ faRiy srfirari # yrfivn &1 wrTe it w5
wwmwﬁmmmmﬁwmm@%m
PRUT 5

1. Villagers are used to the notion of post card communication/ JTHIUT TReHTS TAR Bt
YRUT & ST &

2. It is an open letter read by many,they feel proud/ dg il LERAGII % fora ﬁ?ﬁ'ﬂqﬁ%,
I Td BT 3HT BT &

3. It gives a personal touch to the communication method/ I8 TaR faf¥ &I T fdaTd
= AT §

4. It is a traditional one/dg U URAN® %

Correct Answer :-

« It gives a personal touch to the communication method/ g IR fafer &1 T Afaaa
woRf 3T ®

24) Mention which is the efforts against fragmentation an example?/ §a¢ f&

g0 9 &, faavea & 9o Tt &1 338 82
1. Socialization/ JTATSIIEGOT
2. Social movement/ ITHTNIG T<reT

3. Acculturation/ TREIH TGl
4. Disorganisation/ fagTad

Correct Answer :-

« Social movement/ 9THING 3T<Ia

25) Communication is the process by which messages are transferred from

source to:/ TAR e UpAT e PRI gRI TGS WA A __ &) Ugad o
1. Channel / HT&IH

2. Message/ B3

3. Receiver/ UT&i&dl

4, Effects/ UHTd

Correct Answer :-

« Receiver/ UTddl

26)



The term group is used to describe members who are alike in their
status or positions in the class system of society:/ ¥ &I 3UUNT OH
TaT BT qui BT & e Rear wmar @ ot ware § oroel Ry (2Rvaa) ar & yoredt &
3UA g § JHTA B

1. Vertical group/ Ga‘"iacﬂﬂ;e’

2. Horizontal group/ éri%r:rw:s'
3. Linear group/w JHqg

4. Diagonal group/ ﬁ?mfm{s'

Correct Answer :-

« Horizontal group/ aﬁlﬁfﬂ'{s’

27) Communication when it is impeded and does not reach the receiveris
often known as:/Sd AR ST 8l SITdT 8 3R UIeddbdl a -l ugdm al ura: 39
Fed &

1. Ineffective/ 3gYTA
2. Misinterpreted/ Tiad 31 fAgTeT
3. Barriers/ 14T

4. Effective/9HTal

Correct Answer :-

« Barriers/ &dT

28) A person who actually initiates the action in the community is 1/

Y § aI%ad H 1A R™Y A a1l aafad Pgardr g
1. Professional leader/ URaX ﬁm
2. Assured leader/ &H’dﬁﬁ?jc_clav_cﬁ

3. Operational leader/ UaTeH Addddl

4. Popular leader/ T Aqadmdl

Correct Answer :-

. Operational leader/ JaTaH Aqaddl

29) Bulk of group specific and area specific rural development programmes in
India were initiate during :/ YA ¥ Oz ¥y wd & fafy amw e
STdwul § J i F IR R frd T 2

1. Second five-year plan/ TaX! UGas Ao



2. Third five-year plan/ dG<t daadfa giemr
3. Fourth five-year plan/ @ Ueasfa i
4. Fifth five-year plan/ Uradl derasfa g

Correct Answer :-

. Fourth five-year plan/ @ taadfa giern

30) To encourage initiative, the responsibility should always be coupled with

corresponding:/ Ugd $! UiHTed @Y1 & (01, ITRSIUT P IATY Hed AHRUd ot
g1/t =fee:

1. Organisation/ I
2. Authority/ TP R
3. Power/ TIfad

4. ControlfﬁTHUT

Correct Answer :-

« Authority/ Uf¥&R

31) Out of group attitudes are marked by:/ ‘TUg ¥ qT8Y (3113 3M1® JU)’ Taq Pt
T 8-

1. A sense of differences/ 3Rl & JA
2. Some degree of differences/ $& HIAT ddb 3R
3. Mutual interest/ TRWR® S

4. Conflicts/ﬁ?'fﬂ_qr

Correct Answer :-
. A sense of differences/ 3R &1 JHH

32) Mention how a contact farmer can be considered as:/3dTdT g fF $& el
e &1 AT ST Wbl &:

1. Opinion leader/ Hd ei’rjc_chﬁ

2. Professional leader/ URIaR ﬁ?ﬁﬂﬁl‘f
3. Official leader/3MRIBING Aqaddl

4. Lay leader/3fdiférd Adadmdl (4 TeR)

Correct Answer :-



« Opinion leader/ Hd ﬁqaamf

33) Family can be viewed as:/ TfRaR 3| & U H @I o DT g:
1. Permanent functional institution/ R rata® JwT

2. An effective association/ T® U1t Wil'tf

3. A secondary group/ T& fgdiaes g

4. A primary group/ WEITWW

Select the right answer/9gl WX iﬁr

1.1and 2 onIy/W 1 3R 2

2. 1and4on|y/ao_o|ﬁ1 3R 4

3.1, 2 and 4 only/ %ad 1, 2 3R 4

4.1and 3 onIy/W 1 3R 3

Correct Answer :-

. 1,2and 4 only/ $dd 1, 2 3R 4

Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that follow./
frézr: Fafafad e #1 wFyde year 3ud i @3 14 sglasad u=Ai | 98t fawe o1 a7
2]

The primary purpose of communication is to keep people informed.
Communication is a reciprocal, two ways and a continuous social process.it
should serve the organizational objects. To accomplish this, management
adopts an effective media and network of communication. To make it
effective communicator must possess certain quality’s, understand the
receiver, convey the message and get to act on it. Practical experience in the
field makes both the center and receiver to reach perfection. Communication
translate organization information into the language commonly understood in
the organization. lack of feed-back ,interaction and effective decoding of signs
or words into receiver capability are the important problems in
communication. But they do not later the basic essential for successful
communication. Wilbur Schramm has suggested for any communication to be
transmitter effectively from source to receiver, whether the source is
personnel or non-personnel, the message must need the following three
requirements:/

TR BT MY Se=9 AN &) g I@1 81 TR T YRS, & avwT

TG T ITHTS Ufhar 31 32 JTSATP gl B Aar S T1fel 3/ gia # &
fore, ye=M HUR &1 U UHTH! HILH TG Acas UATdT g1 39 YU 991 & fore, Sareat
& UTH P VT B AP §, S Uhd] &I JHHAT, S WoHT 3R IT R HeH 3591
39 &9 § 9T gud, Uud 3R ureddi, gl &I URyuiar 9@ ugardr gl I9R, I



B TSR BT 3aTe, W & AR W FHSH S+ arelt yrer & wear g1 ufagfd,
S=ATHAT YT UTCHdT Bt &HaT | Hdbdl 9T Megl & TUTA SIDIS BT UTT, IR Bt
Tecayul UTE &1 IR 3 I6hd HaR P AMURY Maaddr it ufvafdd T8t @wdt g1 faaaw
ThTH A g1 g O Tatd arg ifde gt a1 R-w1ie, fed ot Tar & &9 S urawat 9@
TUTA! &7 | dafvd g4 & e wexr g1 FHwifea @ smaxgwarsii ot gfd o=t &:

1. It must be so designed and delivered as to gain the attention of the

;gver../@mmmawﬁamﬁ%mﬁm@%@mmm
|

2. It must use signals that are understood in the same way by both source

and reégiver./mﬁﬁﬁﬁwmﬂmﬁ%@ﬁam,ﬁﬂ'ﬂ'ﬁﬁﬁ

3. It must arouse needs in the receiver and suggest some way of satisfying
these needs that is appropriate to the receiver’'s group situation when moved
to make that desired response./mmmﬁ STILIHAT I BT AT 3R
ISP GRT 3 MaAH T3 B Yfef BT HIg U1 DT AT AT AT <N, 98 qifesa ufafspar
A F e Uiva fore o W, urasal & T4g F foe Suge 3|

The primary purpose of communication is to keep people /AR BT

WYfe IR AN Bl G &
1. Informed/ ﬂﬁﬁ
2. Non-informed/ 3/ fad

3. Announced/ oS

4. Authorized/ 3% d

Correct Answer :-

. Informed/ qfod

2) DIRECTIONS: Read the passage and answer the questions that follow./
frd=: Frafafaa e ot aryde ten sue i 33 T sgfased u=Al | 98l fasen e 90
B

The primary purpose of communication is to keep people informed.
Communication is a reciprocal, two ways and a continuous social process.it
should serve the organizational objects. To accomplish this, management
adopts an effective media and network of communication. To make it
effective communicator must possess certain quality’s, understand the
receiver, convey the message and get to act on it. Practical experience in the
field makes both the center and receiver to reach perfection. Communication
translate organization information into the language commonly understood in
the organization. lack of feed-back ,interaction and effective decoding of signs
or words into receiver capability are the important problems in
communication. But they do not later the basic essential for successful
communication. Wilbur Schramm has suggested for any communication to be
transmitter effectively from source to receiver, whether the source is



personnel or non-personnel, the message must need the following three
requirements:/

TR BT MYFS S2=9 AN &1 e I@1 81 TR T YRS, & avwT

T4 Jdq ATHITS Ufhar 81 59 JS-T® aegail Bt AaT S arfel| 39 g1 o &
fore, ye=M H9R &1 U UHTH! HTLHH TE Acad UATdT g1 38 YU 994 & fore, Sareat
& UTH $S VT 811 TaRAS §, I W] &I JHFAT, TS VST 3R IT W HeH 3591
39 &1 ¥ SAraeTive® rqud, Uu® iR urwdal, -l &t ufvyufar 9@ ugardr 81 WER, WIed
Pt AP BT 3ATG, TS A MUAR W JASH A arelt T § Hear g1 ufayfy,
SAThAT TUT UTWIhd DI &HdT | Hbdl a1 Wsgl & GUTA! STHIST BT 3(HTF, HAR Pt
Ayl THRTE &1 R 3 G d TaR Pt AMYRYG ATaRaHdT i uikafad T8l ddt 31 faear
ThTH A g1 g o Taid arg 1fde g a1 R-w1ie, fed off Tur # &9 S urawdat 9@
TUTH &0 J Faivd 811 & fog wdwr gt fAwifea A smazaewarsit &t gfef ==t 2:

1. It must be so designed and delivered as to gain the attention of the

;%qaver../aﬁmmwﬂwﬁamﬁ%ﬁaﬁﬁﬁmﬁ@ﬁﬁﬂmmm
|

2. It must use signals that are understood in the same way by both source

and receiver./3TH T Yhdl BT ITANT AT AT I8 Wd T Ut Sl JHE <1 9
HHIIA

3. It must arouse needs in the receiver and suggest some way of satisfying
these needs that is appropriate to the receiver’'s group situation when moved
to make that desired response./3H® gRT UTdd] § AR dTl 34 gl I1ey iR
ISP GRT 3 ATAADATSH DI Gfel BT BIS TAT AL 1D GHATAT ST A1 ST ol, 98 difedd ufafepar
A F fore Afva forg oM R, wraawdat & T & fore Suga &)

Both the sender and receiver to reach perfection what kind of experience

relevance:/ {5 YR &1 3Ud, AP 3R UTwdal, g1 @1 aigufar 9% ugeamar 8?2
1. Theoretical/ YgIf<®
2. Practical/ dgIR®

3. Informative/ ¥d¥a
4. Subject mater/fdvg-a¥]

Correct Answer :-

» Practical/ BCHT:I%TW

3) DIRECTIONS: Read the passage and answer the questions that foIIow./ﬁﬁ"\’r:

fFafafad Taiw @ aFyde yees 3ud A Y T sgfawed uxEl A 98 fawe &1 99 S

The primary purpose of communication is to keep people informed.
Communication is a reciprocal, two ways and a continuous social process.it
should serve the organizational objects. To accomplish this, management adopts
an effective media and network of communication. To make it effective
communicator must possess certain quality’s, understand the receiver, convey the
message and get to act on it. Practical experience in the field makes both the
center and receiver to reach perfection. Communication translate organization



information into the language commonly understood in the organization. lack of
feed-back ,interaction and effective decoding of signs or words into receiver
capability are the important problems in communication. But they do not later the
basic essential for successful communication. Wilbur Schramm has suggested for
any communication to be transmitter effectively from source to receiver, whether
the source is personnel or non-personnel, the message must need the following
three requirements:/

TR BT MY S2=9 AN &1 gfed I@1 81 TR U YRS, & avwT

T Jdq ATHTITS Ufhar 81 59 AMS-TH® aigail Bt qaT S arfee| 39 g1 o &
foTe, ye=M[ TR &1 U UHTHT HTLHH TE Acae MUATdT g1 39 YU 994 & fore, Saredt
& U $O U1 B MTaRAP &, o UTaehdt bl FHSHT, TS AT 3R I9 W HeH IoarT|
39 &7 ¥ Sraetive® U4, Uu® iR urwadal, ¢l &t ufvyular 9@ ugardr 81 JER, WWIed
Pt TP BT AT, TS A MUAR W JASH A= arelt T § Hear g1 ufayfy,
SATHAT YT UTChdT Bt &HaT | Wdbdl 9T Jegl & TUTA SIDIS BT UTT, JAR Bt
HEayUl THETE &1 R d g d WaR B MURY Maadhdl &! ufvafdd el drdl ol faaar
ThTH A g1 g fF T arg ifde gt a1 R-wrife, fed off TurR & &9 S urasat 9@
THTdl ®U A dafvd g1 & forg dewr g1 Fwifea @9 smazgearsit ot gfd a3t &:

1. It must be so designed and delivered as to gain the attention of the

;ﬁver../wmmwﬂwﬁamﬁ%mﬁm@%ﬁm%mm
|

2. It must use signals that are understood in the same way by both source

and receiver./3TH T Yhdl BT ITANT g1 AT I8 Wd 9 UTddpdt, Sl JHE <1 9
HHIA I

3. It must arouse needs in the receiver and suggest some way of satisfying
these needs that is appropriate to the receiver’'s group situation when moved
to make that desired response./3H® gRT UTdd] § AR dTl I g1 I1ey iR
TP GRT S TagHarsil B gfd &1 HIg a1 aBT AT ST 8¢ <, 98 qifesa ufafopar
A F fore Afva forg oM R, W dat & Tyg & fore Suga &)

The important problems in communication are:/ JaR ! Hgayul I 3:
1. Lack of feed back/ Ufdgfd &1 3ruTd

2. Interaction/ 3f=fehar

3. Effective decoding signs or words/ ddl a1 Ysal &1 YUTdT SibIed

4. All of the above/3Iudad Tt

Correct Answer :-

« All of the above/3udad i

4) DIRECTIONS: Read the passage and answer the questions that follow./

Adan: Fafafea o # aFyde yeet 3u R 3 13 sgiiwed uxEl & 8 fAee &1 991 oY)

The primary purpose of communication is to keep people informed.
Communication is a reciprocal, two ways and a continuous social process.it
should serve the organizational objects. To accomplish this, management adopts



an effective media and network of communication. To make it effective
communicator must possess certain quality’s, understand the receiver, convey the
message and get to act on it. Practical experience in the field makes both the
center and receiver to reach perfection. Communication translate organization
information into the language commonly understood in the organization. lack of
feed-back ,interaction and effective decoding of signs or words into receiver
capability are the important problems in communication. But they do not later the
basic essential for successful communication. Wilbur Schramm has suggested for
any communication to be transmitter effectively from source to receiver, whether
the source is personnel or non-personnel, the message must need the following
three requirements:/

TR BT MY Se=9 AN &) i @1 81 TR T YRS, & avwT

TG T ITHTS UfhaT 31 3/ JSATP gl Bl Aar H-1 A1l 3/ Fa H &
fore, ye=M TUR &1 TP UHTH! HTEHH TE Acas UATdT g1 39 YU 991 & fore, dareat
& UTH P VT B AP §, S Uhd! &I JHFAT, S VST 3R IT R HeH 3591
39 &5 ¥ SATqeTiv® U4, Uu® 3R Wrwdal, -l &t ufvyular 9@ ugardr g1 W9R, WIed
B TSR BT 3aTG, T | AR W FHSH W= arelt yrer & wear g1 ufagfd,
S=IfehdT TUT UTWThd] I &HAT § Haodl IT Vel & YHTA STHIST BT 3HTd, TOR Bi
Heayul YHETE &1 R d Ghd TR B MURYJ MTaaHdl &I ufvafdd 781 sl 31 faaar
ThTH A JmaT g o T 918 +1fe gt a1 iR-w1fie, fadt off Tur &t wia @ wraedt 9o
TUTI! & | dafvd g4 & e dexr g1 FHwifea @9 smazgwarsii ot gfd aw=t &:

1. It must be so designed and delivered as to gain the attention of the

mver../wmmmmw%m@%ﬁm@mmm
|

2. It must use signals that are understood in the same way by both source

and receiver./39H T Hhdl BT IUUNT g1 AT g Wd T Ut Sl JHE <1 9
qHE

3. It must arouse needs in the receiver and suggest some way of satisfying
these needs that is appropriate to the receiver’'s group situation when moved
to make that desired response./ﬁ%mmﬁ ARG dT I il A1 ey 3R
ISP GRT 3 MaADH TSN B Yfed BT HIg OFT DT AT AT AT N, 98 qifesa ufafspar
A F o Uiva fore o W, urasal & T9g F foe Suge 3|

Communication is a proses:/ IdR Th ufepar %:
1. Reciprocal & two-way/ URWR® Td GlaRwml
2. Two-way/ GIaRwT

3. Continuous social/ Igdd ITHIS
4. All of the above/ ijaa gt

Correct Answer :-

« Reciprocal & two-way/ TRR® Td IRl



DIRECTIONS: Read the passage and answer the questions that follow./

Az Fafafea o # aFyde yeet 39 R 3 13 sgiiwed uxEl & T8 fAed &1 991 oY)

The primary purpose of communication is to keep people informed.
Communication is a reciprocal, two ways and a continuous social process.it
should serve the organizational objects. To accomplish this, management adopts
an effective media and network of communication. To make it effective
communicator must possess certain quality’s, understand the receiver, convey the
message and get to act on it. Practical experience in the field makes both the
center and receiver to reach perfection. Communication translate organization
information into the language commonly understood in the organization. lack of
feed-back ,interaction and effective decoding of signs or words into receiver
capability are the important problems in communication. But they do not later the
basic essential for successful communication. Wilbur Schramm has suggested for
any communication to be transmitter effectively from source to receiver, whether
the source is personnel or non-personnel, the message must need the following
three requirements:/

TR BT WU Se=9 AN &) g I@1 81 TR T YRS, & avwT

TG T ITHTS Ufhar 31 39 JSATP gl B Jar S Tl 3/ gia #3 &
fore, ye=M TR &1 U UHTH! HILHH TG Acas M9TdT g1 59 YU 991 & fore, Sareat
& U B U1 811 TIAP &, I WKPhdi B THSAT, o= AT 3R I9 R HeH IsaHI|
39 &5 ¥ SArqeIive® U4, Uu® iR Wrwdal, -l &t ufvyuldr 9@ ugardr g1 W9R, WIed
B TSR BT 3JaTG, T | MR W FHSH S+ arelt yrer § &ear g1 ufagfd,

SATh AT qUT UTWIhdl DI &HdT § Hhdl a1 Wegi & GUTA! STHIST BT UG, HAR Pt
Teayul Y &1 IR 9 T6hd HOR P AMURY MaaHdr it ufvafdd gt @wdt g1 faaaw
ThTH A g1 g o Taid arg wifde gt a1 R-wrie, frdt ot Tar & &9 S urawdat 9@
TUTS &0 J F=1id 811 & e Tewr g1 fifed a9 smazgearsit @t gff =3t @:

1. It must be so designed and delivered as to gain the attention of the

;gver../@mmmawﬁamﬁ%mﬁm@%@mmm
|

2. It must use signals that are understood in the same way by both source

and reégiver./m@ﬁﬁﬁmeﬁ%WHm,ﬁﬂ'ﬂ'ﬁéﬂﬁ

3. It must arouse needs in the receiver and suggest some way of satisfying
these needs that is appropriate to the receiver’'s group situation when moved
to make that desired response./mmmﬁ STaRgEHdT I il A1y 3R
ISP GRT I MaAH T3 B Yfef BT HIg OFT DT AT AT 19T <N, 98 qifesa ufafspar
A & e Uiva fore o R, urasat & T4g F foe Suge 3|

Communication needs both 1/ IOR G| Al T:lTI%'I:{I
1. Source and receiver/ 91d Td Ul

2. Communicator and receiver/ GaR&dl Td U dl
3. Source and signal/ |id Td dovd
4. None of the above/ wjaa e ﬁé 1t 7ot

Correct Answer :-



« Source and receiver/ 9id Td YT dl

6) DIRECTIONS: Read the passage and answer the questions that follow./

= Fafafaa T # argde yeer Sud R 3 T sgfawed uxEl § 9t fAwe &1 999 S

The primary purpose of communication is to keep people informed.
Communication is a reciprocal, two ways and a continuous social process.it
should serve the organizational objects. To accomplish this, management adopts
an effective media and network of communication. To make it effective
communicator must possess certain quality’s, understand the receiver, convey the
message and get to act on it. Practical experience in the field makes both the
center and receiver to reach perfection. Communication translate organization
information into the language commonly understood in the organization. lack of
feed-back ,interaction and effective decoding of signs or words into receiver
capability are the important problems in communication. But they do not later the
basic essential for successful communication. Wilbur Schramm has suggested for
any communication to be transmitter effectively from source to receiver, whether
the source is personnel or non-personnel, the message must need the following
three requirements:/

TR &1 Ui S22 A & Jia 1@ 81 R Th URWNS, & aiw]

T T ITHTSS UfhaT 31 32 JTSATaP gl B qar S+ A1fel 39 Fa H &
fore, ye=M TUR &1 TP UHTS! HILHH TG Acas UTdT g1 39 YU 991 & fore, dareat
F U DO U1 811 ISP &, 94 UKIpdi B THSAT, TS AT 3R IT R $HeH IsaHT|
9 &F ¥ AT Y4, V9P 3R urewal, gl &1 ufvquiar 9 ugardar 31 99R, e
B TSR BT AT, T | MR W FHSH W= arelt yrer § FHear g1 ufagfd,
SATHAT TUT UTWhd! Bt &HaT | Wdbdl °T Meal & TUTA SPIS BT UTT, JTR Bt
Tecayul Y &1 IR 9 I6hd GaR I AMURY MaaHdr i ufkafdd gt dedt g1 faaaw
ThTH A G g O Taid arg sifdie g a1 R-sride, frdt ot Tar # 9 S urawdat 9@
TUTI &Y | Fafvd g4 & e Hexr g1 FHwifea @9 smaxgwarsii ot gfd aw=t &:

1. It must be so designed and delivered as to gain the attention of the

receiver../3d Uddi BT AT ATHT H1 & forerer | fewmg ve fedhiaw fvar s
qrfgel

2. It must use signals that are understood in the same way by both source
and receiver./39H TH Hddl BT SUINT BT ATET g Aid 9 WIwashdl, 1 IaT &1 9
qad gl

3. It must arouse needs in the receiver and suggest some way of satisfying
these needs that is appropriate to the receiver’s group situation when moved
to make that desired response./wﬂ?wmﬁ STaRgHdT I il A1 ey 3R
AP GRT I MAADH TSN B Yfed BT HIg U1 GBT AT AT AT <N, 98 qifesa ufafspar
A & fore ofva frT 9 W, wrawal & T9E & fore Suge @)

should be appropriate to the receiver:/ UTedd] & ﬁ‘l‘l:{ SUYad
g1/ =R

1. Communication/ IR

2. Interaction/ 3i=ifshar



3. Information/ {1

4. Subject matter/ favg-a%]

Correct Answer :-

« Communication/ 9dR

7) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=: fFafafeaa weriw o caFgds g Sue i 33 T sgfasadt uz=i o W
fawea &1 999 B9

The information and communication technologies (ICT) are being increasingly
used by the governments to deliver its services at the locations convenient to
the citizens.the rural ICT applications attempt to offer the services of central
agencies (like district administration ,cooperative union ,state & central and
government departments) to the citizens at their village door steps .These
application utilize the ICT in offering improved and affordable connectivity
and processing solutions .Several Government-Citizens(G-C) e-government
pilot projects have attempt to adopt these technologies to improve the reach,
enhance the base, minimize the processing costs, increase transparency, and
reduce the cycle times. A large number are rural e-government application,
developed as pilot projects, were aimed at offering easy access to citizen
service and improved processing of government to citizen transactions. Some
of these al drawn international attention and have won prestigious awards for
their innovative approaches. They have demonstrated the power of ICT in
rural context and are seen as reference models of future e-government
project implementation. Most of these projects have seen developments in
the internet technology and dropping costs of PC as opportunity to reach
remote location. They use the existing telecom infrastructure and the internet
access through ISPs as inexpensive connectivity solution. They tried to
package in all possible information service for the rural season as a single
point access thought PC based kiosks connected to ISPs. Some projects have
experimented with the wireless technology to reach the remote locations./

WHRI gRT ARG B 37% foe glaure e WAl W 1€ yeH F1 & ¢ G- vd =R
WeNfifeal (ICT) &1 IUAhT dear =T TeT 81 T ICT gy ANR® &) I99% Tial A g
T TEIRE (S e TR, GeeR 6, ISy, ST TE IRERT fIUTT) 3 Jarg o
B & TATH A 81 A SIUANT gax Ud fPwTad! HAfaefadt aur UshHor THT U H34
# ICT FT TGN Fd &1 $§ WPR-ARTNS (G-C) F-Ta-He urgae uiareraii 3 ugd
o, 3MYR A gfg HA, UHHUI ANl I YAdH H1, TRSAT T, 3R Ih JHY ¥ &
fore g9 tenfifeal &Y A &1 yary forar 81 urgere uivaisrel & v # yrivr §-ma-ide
VAT P TP T =T falrd & Tt § S Aie Jarsit 9% Jd Ugd UeH e iR
WHR-ANNS HAGR| & YHHUI B AR T4 W Alad AITTH § $9 7 =RIEHI T W
AT Yd fHar 8 SR 3rut Tauadaer ugfaal & foe ufaffd R o 81 317 arfior
T & 1CT 9 fea xRt § 8k 5% Tl $-Tra-de ufrar srat-aaT & foe g
Aisal & ©u § @1 Srar 81 5799 A itz ufvarernsit 3 geqe meanfie # faer ik
PC 3t ANl # HHI B R VI a% Ugad & AR & FU § @7 31 I 9% dfaefadt
UL & @R W WGl gRUAR 214 3R ISP & WU $evAc Ugd $T IUaNT wvedl &1 3=
TTHtor AW & T gUa SYa SHeRI 31, ISP A 98 PC Snutiid fras! & wive ue
THd Ugd fig & U ¥ G H 31 vard fohar 81 oo ufaieail 3 ger Il 9% uga
& T arRay Menfie & 9y wa fear g1



Expand ICT:/ ICT &1 [T 919 &:

1. Information Communication Technology/ SThIARM HRIHHIA caaiol (AT FaR
EIGIITE)

2. Integrated Communication Technology/ S¢iice HRIFHRH caHdmsl (Fafdhd TR
BIEIRCH)

3. Implied Communication Technology/ STTEE HHIAHTH carrars (Tfd TR Urenfiret)
4. Internet Communication Technology/3e3Ac HRIFHIM THIa (Fexe TR W)

Correct Answer :-

« Information Communication Technology/ SHIHRH Wﬁ%—‘lﬁ At (YT 9IR

8) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: fFafafaa Teriw o eaFgds yga Sue i 33 T sgfasedt u==i o T
faweu 1 999 B

The information and communication technologies (ICT) are being increasingly
used by the governments to deliver its services at the locations convenient to
the citizens.the rural ICT applications attempt to offer the services of central
agencies (like district administration ,cooperative union ,state & central and
government departments) to the citizens at their village door steps .These
application utilize the ICT in offering improved and affordable connectivity
and processing solutions .Several Government-Citizens(G-C) e-government
pilot projects have attempt to adopt these technologies to improve the reach,
enhance the base, minimize the processing costs, increase transparency, and
reduce the cycle times. A large nhumber are rural e-government application,
developed as pilot projects, were aimed at offering easy access to citizen
service and improved processing of government to citizen transactions. Some
of these al drawn international attention and have won prestigious awards for
their innovative approaches. They have demonstrated the power of ICT in
rural context and are seen as reference models of future e-government
project implementation. Most of these projects have seen developments in
the internet technology and dropping costs of PC as opportunity to reach
remote location. They use the existing telecom infrastructure and the internet
access through ISPs as inexpensive connectivity solution. They tried to
package in all possible information service for the rural season as a single
point access thought PC based kiosks connected to ISPs. Some projects have
experimented with the wireless technology to reach the remote locations./

WHRI GRT ANIINSI ®I 3P ¢ Glaurse wHEl W Jare yerq $1 & e @1 vd 9ur
wrenfifeal (ICT) &1 ITURT ggdr o ¥eT 31 ATHIT ICT ST AFR®! &1 39 el # &
I TERME (S e YRR, GeeR 6, IS, $T TE IRERT fIUTT) 3 Jarg o
B P YA YA 81 T VAT dgar Ud frwrad) eAfaefad aur wshaor qururT 9= o4
# ICT &1 SUUNT Hd &1 B8 WPR-ANINSD (G-C) S-Ta-He Traee ufvarera 7 ugd
o, 3MUR ¥ gfg HA, THHUI ANl I YAdH H1, URSRIAT TR, 3R Th JHY ¥ &
forg 571 wrenfiferal &) eruam &1 yar far 81 uraee ufatsrnaei & =0 & ardior €-Tra-de
U F T 9 T=T fasfya & w8 S Ay Aarsit 9@ I ugd g HRA 3R



WPR-ANINS HAGRI P UHHUI B gaX T4 W Afad A9 F $S 7 S=RIEHE W TR
AT fHar § 3R 3ot Tauad—eR ugfaal & fore ufaffd ReerR ot 81 317 arfior
< # 1cT I wfea gt @ ok 3% | E-Tra-iAe ufvaieHT srai-aed & fou g
Hisdl & U A 3@ 91dT 1 599 A Srftei=r ufvaieErse 3 eqe M # faer ok
PC 3 ANTdl # HHI $ YR I a% Ugaq & R & FU F W7 31 T 9w dAfaefadt
IHTY & R W HiEl RUaR ol 3R ISP & WY $ev-e Ugd &1 IuaNT Fidt g1 S5l
areior MEH F Y g GHT SHSR @Y, ISP @ 98 PC smerfyd frae! & Wity te
THd Ugd fig & &0 A b o 31 vary a1 31 $© uRaiereh A ggr ®IHEl @ uga
¥ fore araRa Menfiet & Ty wah foear g1

ICT applications attempt to offer the services of:/ ICT GF;[FITﬁ"T 4| '\ﬁaTl;f
U1 FA BT I R &

1. Central agencies/ Do TolRyl

2. Social agencies/ TSI Toirerdt
3. Economic agencies/ 3 TRl
4. Political agencies/ NSEIRED ToiRAf

Correct Answer :-

. Central agencies/ %19 Tolal

9) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: FaffEa e & eaFyd® tea 39 - A T sgfawadt wz=i o W&t
fawea &1 999 B9

The information and communication technologies (ICT) are being increasingly
used by the governments to deliver its services at the locations convenient to
the citizens.the rural ICT applications attempt to offer the services of central
agencies (like district administration ,cooperative union ,state & central and
government departments) to the citizens at their village door steps .These
application utilize the ICT in offering improved and affordable connectivity
and processing solutions .Several Government-Citizens(G-C) e-government
pilot projects have attempt to adopt these technologies to improve the reach,
enhance the base, minimize the processing costs, increase transparency, and
reduce the cycle times. A large number are rural e-government application,
developed as pilot projects, were aimed at offering easy access to citizen
service and improved processing of government to citizen transactions. Some
of these al drawn international attention and have won prestigious awards for
their innovative approaches. They have demonstrated the power of ICT in
rural context and are seen as reference models of future e-government
project implementation. Most of these projects have seen developments in
the internet technology and dropping costs of PC as opportunity to reach
remote location. They use the existing telecom infrastructure and the internet
access through ISPs as inexpensive connectivity solution. They tried to
package in all possible information service for the rural season as a single
point access thought PC based kiosks connected to ISPs. Some projects have
experimented with the wireless technology to reach the remote locations./



WERI gRT ARG B 37 foe glauree Rl W J91¢ erH $1 & FI¢ G- vd 1R
wrenffeal (ICT) &1 ITURT ggdr o Y87 31 ATHI ICT ST ANTR®! & 39 gl § g
P Tl (S forar unaE, Gger) 99, Ty, S T IRART fAURT) F Jarg ow
B & TATH B 81 A SIWANT dgax Ud fPwTad! HAfaefad! auT UshHUT THTUT U H
# ICT FT UGN Fd &1 $§ WPR-ANNS (G-C) I-Ta-He urgae uiareraii 3 ugd
e, YR ¥ i FHA, THHUI ATl I YATH HA, URSIRIAT T, 3R Teh JHY U &
fore =9 tenfifeal &Y = &1 yary frar 21 urere uivaisHnei & v § I §-Ta-ide
YA B TP ISt T faspfa &1 Wt @ Y Ay Jareii 96 T Ugd UgH w3 SR
WHR-ANRS HGGR] & WHAU HI ¥ T W Afdd 1570 § $S 7 I=RITHT TR W
AT fHar § 3R Ut Tauad—eR ugfaal & fore ufaffd ReeR ot §1 311 Irfior
< # 1cT F ofea gt @ ok 3% | E-Tra-Ae ufvaieHT srai-aad & fou g
Aisdl & ¥ & 3@ wrar g1 399 F srfei=r ufearensi 3 gevae meafie & faer sik
PC & ATTal & HHI ®Y Yg¥ VI a0 Uga1 & @AW & ¥U § 36T 81 3 X pAfaeiad]
THTY & TR W WiEl GRUAR o1 3R ISP & WY Sev-e Ugd &1 IuaNT Sdt gl S5l
areior MEH & Y guw GHT SHESR @Y, ISP A 98 PC snurfya frae! & Wity te
THd Ugd g & &u § Ab $e- &1 vary a1 g1 $© uRaiere A ggr ®IHl @ uga
¥ foe araray MmNt & a1y wah foean 31

have attempted to adopt to improve technologies:/ q dgR
wrenfifeat @ s &1 v fora 3

1. Firka project/ ftha1 i
2. Government pilot project/ TR&RI UrGdC GRISHT
3. Srinikethan project/ i d aRaSHT

4. None of these/sﬂf{ | ?ﬁg gl

Correct Answer :-

« Government pilot project/ TR®RI TIIAC TGS

10) DIRECTIONS: Read the passage and answer the questions that
follow./ féz: FafifEa e #f eaFyd® ues 39 - A T sgfawadt uxei o w8t
fawe &1 999 B9

The information and communication technologies (ICT) are being increasingly
used by the governments to deliver its services at the locations convenient to
the citizens.the rural ICT applications attempt to offer the services of central
agencies (like district administration ,cooperative union ,state & central and
government departments) to the citizens at their village door steps .These
application utilize the ICT in offering improved and affordable connectivity
and processing solutions .Several Government-Citizens(G-C) e-government
pilot projects have attempt to adopt these technologies to improve the reach,
enhance the base, minimize the processing costs, increase transparency, and
reduce the cycle times. A large number are rural e-government application,
developed as pilot projects, were aimed at offering easy access to citizen
service and improved processing of government to citizen transactions. Some
of these al drawn international attention and have won prestigious awards for
their innovative approaches. They have demonstrated the power of ICT in
rural context and are seen as reference models of future e-government
project implementation. Most of these projects have seen developments in



the internet technology and dropping costs of PC as opportunity to reach
remote location. They use the existing telecom infrastructure and the internet
access through ISPs as inexpensive connectivity solution. They tried to
package in all possible information service for the rural season as a single
point access thought PC based kiosks connected to ISPs. Some projects have
experimented with the wireless technology to reach the remote locations./

TRBRY gRT ANRS Bt 39 fore Flaurere =l iR a1 e #34 & fe g1 vd dar
WNfifeal (ICT) &1 IuThT dear o1 TeT 81 T ICT Sy AFIR® &) 3-7& Tial A g
S TERMET (S e YRR, GeR 6, I, ST Td IRER] fIUTT) 3 Jarg o
B P YA YA 81 T IV dgar Ud Frwrad! SAfaefad aum wshaor qururT i1 o4
# ICT FT UGN Fd &1 $§ WPR-ANTNSD (G-C) I-Ta-He urgae uiRare-raii 3 ugd
o, 3MUR H gfg HA, THHUI ANl I YAdH F1, URSRAT T, 3R I JHY ¥ &
for 591 Mrenfiferal &) eruam &1 yar far 81 uraee uRatsnei & =0 § ardior -Tra-de
VAT P TP T =T falra & Tt & S A Jarsit 9% IRa Ugd ueH e iR
WPR-ANNS HAERI P YHHUI B AgaX T4 W Afed A9 F $S 7 =RIPH W W
AT fHar 8 SR 3ot Aauad—er ugfaal & foe ufafyd ReeR o 81 319 arfior
Tl & 1CT F wifaa guldt @ 3R 5% UTd $-Trad e uRaisHT sraf=uad & fau a<d
Hisdl & U A @I ATdT 81 599 A iy ufvaieErs 3 exae M # faer oiv
PC P aNTal # $H #) gr WAL a% UgT & AaR & U § @1 g1 T & FAfaefad
TUTYE & R W Hiel RUaR ol 3R ISP & WY $evAe Uga &1 Ul #id! g1 S5i1
o HIY & AT I YT AFeR 31, ISP | 98 PC Ut fraies & oive ue
THd Ugd foig & &0 A AFa o &1 vary a1 31 7o uRaierseh A ggr ®HEl @ uga
¥ fore araraw Menfrest & a1y war forar 81

ICT models for future project implementation:/ YTt LIECIEEI
Prataad & e 1CT uisa:

1. E-government/ §-Td-Hc
2. E- panchayath/ 3-U=mad
3. E-journal/ §-SRAd

4. ICT

Correct Answer :-

. E-government/ 3-Ta-Hc

11) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: Faffaa e & eaFyd® tea 39 T A T sgfawadt uz=i & g
faweu &1 999 B9

The information and communication technologies (ICT) are being increasingly
used by the governments to deliver its services at the locations convenient to
the citizens.the rural ICT applications attempt to offer the services of central
agencies (like district administration ,cooperative union ,state & central and
government departments) to the citizens at their village door steps .These
application utilize the ICT in offering improved and affordable connectivity
and processing solutions .Several Government-Citizens(G-C) e-government
pilot projects have attempt to adopt these technologies to improve the reach,



enhance the base, minimize the processing costs, increase transparency, and
reduce the cycle times. A large number are rural e-government application,
developed as pilot projects, were aimed at offering easy access to citizen
service and improved processing of government to citizen transactions. Some
of these al drawn international attention and have won prestigious awards for
their innovative approaches. They have demonstrated the power of ICT in
rural context and are seen as reference models of future e-government
project implementation. Most of these projects have seen developments in
the internet technology and dropping costs of PC as opportunity to reach
remote location. They use the existing telecom infrastructure and the internet
access through ISPs as inexpensive connectivity solution. They tried to
package in all possible information service for the rural season as a single
point access thought PC based kiosks connected to ISPs. Some projects have
experimented with the wireless technology to reach the remote locations./

WHRI gRT ATINS! B 37% foT glaureHe WAl W ¢ UeH $1 & ¢ =41 vd 1R
WrenfRfeal (ICT) &1 IUART ggdT o1 Y87 81 ATHI ICT ST AN & 39 7ial § g
ST TSR (S RTeT Y=, GgeR 6, Iy, ST U SReRT fTUTT) Y Fare o
B P YA B 81 T SIVINT 3gax Ud fhwrad! SAfaefad! aum Ushaor GuTar U= o+
# ICT FT TGN Fd &1 $§ WPR-ARNS (G-C) F-Ta-He urgae uiRareraii 3 ugd
oM, YR A g A, WhHUT ATl & GAqH H1, TRSRIAT 9gM, 3R Th U 9eH &
fore 59 Menfifeal &Y 3= &1 yary frar 81 urgere uivaisrel & v # g §-ma-ide
VAT P TP T =T fafrd &) Tt @ S A Jarsit 9% IXd Ugd ueH e iR
WPR-ANNG HagRI S YPHUT Pl 9gaX T4 W afdd 379 F O 7 IR T R
TSN fFar 8 3R 3ot Favad—er ugfoat & fore ufaf¥a Reer shia &1 5819 ardior
< # 1cT 9 Tfda =it ? R 3% U -7 e ufasr sraf=uaa & fore g
Aisal & ©u § 3@ a1 81 5799 F Srf¥reisr ufasrrsit 3 gee meanfie # fawr ik
PC & @NTal § HHI &Y Yg¥ VI a9 Uga & AU & ¥U & 36T 1 3 T pAfaeiad]
TUTY & R W Wil grEaR M 3R ISP & 9T $e3e Ugd &1 SUanT odt 1 37
e MEH & Y gU GHT SHESR @Y, ISP d 98 PC nutfya fra! & wfte te
THd Ugd fig & &0 ¥ G o1 31 vard fohar 81 oo ufRaieasil 3 ger Il 9% g
& foT arRaw Menfiat & a1y wan fear g1

Project have experimented with the _ technology to reach the remote
location:/ URAISHTSM = g I dF Ugdd & faQ Wt & 1y v fean
gl

1. ICT

2. Kiosks/ fdae
3. Wireless/ IR
4. Satellite/ 3U¥g

Correct Answer :-

« Wireless/ IR

12) DIRECTIONS: Read the passage and answer the questions that
follow./ féxn: FafifEd e & eaFyd® tes 39 - A T sgfawadt uzei o W&t
fawea &1 999 B



The information and communication technologies (ICT) are being increasingly
used by the governments to deliver its services at the locations convenient to
the citizens.the rural ICT applications attempt to offer the services of central
agencies (like district administration ,cooperative union ,state & central and
government departments) to the citizens at their village door steps .These
application utilize the ICT in offering improved and affordable connectivity
and processing solutions .Several Government-Citizens(G-C) e-government
pilot projects have attempt to adopt these technologies to improve the reach,
enhance the base, minimize the processing costs, increase transparency, and
reduce the cycle times. A large number are rural e-government application,
developed as pilot projects, were aimed at offering easy access to citizen
service and improved processing of government to citizen transactions. Some
of these al drawn international attention and have won prestigious awards for
their innovative approaches. They have demonstrated the power of ICT in
rural context and are seen as reference models of future e-government
project implementation. Most of these projects have seen developments in
the internet technology and dropping costs of PC as opportunity to reach
remote location. They use the existing telecom infrastructure and the internet
access through ISPs as inexpensive connectivity solution. They tried to
package in all possible information service for the rural season as a single
point access thought PC based kiosks connected to ISPs. Some projects have
experimented with the wireless technology to reach the remote locations./

WERI gRT ARG B 3% fe glaurse R W J91¢ UerH F1 & fI¢ G- vd 1R
WSl (ICT) &1 UG d¢ar o1 ¥T @1 T ICT SIyaNT ANTR® &I 3-1d Tial A &t
g el (SR forar wRIE, SEeil 1Y, 59, T Td IRBRY fAUTT) 3 Farg o
B P YA B 81 T YN dgaR Ud frwrad) SAfaefadt aum wshaor qurar o= o
# ICT FT UGN Fd &1 $§ WPR-ANNS (G-C) F-Ta-He uraae uiRarsraii 3 ug
e, AMUR A giF HA, WhHUT ATl DI gAqH B, TRSRIAT 98, 3R Th T 9e &
fore =9 tenfifeal &Y e &1 yary frar 21 urgere uivaisre & &9 § I §-Taide
SUEN B TP IS T faefa @1 7t @ St Ay Jareii 96 I ugd UgH w3 8RR
WPHR-ANNS HGGR] P UHHUI B X T4 W Afad A9 F $S 7 S=RIEHE W W
AT YT fHar § SR Ut Tauad—eR ugfaal & fore ufaffd RepR ot §1 319 arfior
< # 1cT F ofda St @ ok 3% | E-Tra-Ae ufvaie T srai-aad & fou g
Aisdl & U § @1 Sa1 21 590 § iy ufiaierred 7 sexae vafie § faer ok
PC & arTal # S 3 Ygr RITI 9% Ugdd & GO & U § 3@ 81 3 I PAfaefad
IHTY & R W HiEl RUAR o1 3R ISP & WY Sev-e Ugd &1 Ul &ed! gl S5l
areior MEH F Y 9w GHT SESR @), ISP A 98 PC smurfyd frae! & Wity te
THd Ugd fig & &0 A b o 31 vary a1 31 7 ulkaierset A ggr ®IHl @ uga
& fou arara MmNt & a1y wah foean 31

Offering easy access to citizen service and improved processing of

transaction:/mﬁm&ﬁwwqgﬂmmﬁ AERI & YhHUT B
9gAR I

1. Government-panchayat/ IReR-UA—Id
2. Government-industry/ TR&HR-IRT
3. Government-government employees/IRGR-TIBRT HHARL

4, Government—citizens/W-qWﬁa?



Correct Answer :-

« Government-citizens/IRHR-ANING

Topic:- Grad_Child Care and Education

1) Pre School Education related to: /a1 qﬁﬁr&nﬁa‘fﬁa%:
1. Informal/ 3FTTaTR®

2. Formal /Gﬁ'qilTW

3. Informal & Formal/3FITeTR® quT SHITATNG

4. None of above /mﬁaﬁ%:@'

Correct Answer :-

. InformaI/G{:ﬁ'q?lTR’E

2) Need of protection is for:/ TX&UI P} ATTIHIT HI 8-
1. For Development/ fop & o

2. Emotional Maturity /HaH® gRuadarl

3. For Adjustment/ W@W%ﬁﬂ

4. All of the above /SURIa JH

Correct Answer :-

« All of the above /IWRigd g+t

3) Determination of Development is:/ﬁmasﬁmfwaa%:
1. Maturity/ gRugddn

2. Growth cycle/ f{@%

3. Energy / 39l

4. Growth of Rhythm/ gfg &t @

Correct Answer :-

« Maturity/ URUddr

4) What is the name of school situated in Lucknow for giving special Education
for handicapped children? /R ® fa@wai aTa®! @1 Rien gq a@—s fRfd femaa &0
ATH T 82



1. Chetna Center/a?f:ﬂh
2. Samarpan Center/JHUUl g
3. Bhavishy Center/Hfd™ &g

4. None of the above/ IWRiad & J BIs gl

Correct Answer :-

« Chetna Center/dd-l &%

5) Characteristics of Informal Education/3itu=nf¥e® fRiem 5 fagiar:-
1. Characteristics of Informal Education/3iu=aTie fRi&m &1 fa=war.-

2. Life long education / Sita g e

3. Nil Syllabus/FR& Urgd®HH

4. All of the above /IURIe JH

Correct Answer :-

« All of the above /3IWRiad gt

6) Creativity is related to?/goATdI®dl fead a2
1. New Ideas/:fa"r:[ﬁﬂﬁ

2. Imagination/ Wﬁ

3. Flexible/ Titard=

4. All of the above /IWRIEd FHt

Correct Answer :-

« All of the above /SWRIdd Gt

7) Which is not chief principles of development?/aﬁ?ﬁmﬁmﬁmqﬁ%?
1. Continous speed /¥R 3axd Tifd

2. General to specific/ I ¥ fafeme

3. Specific pattern / [Af3d ufa=y

4. Maturation & learning / URU&dar Ud 3

Correct Answer :-

« Maturation & learning / GRU&dar Td S



8) Who is the founder of Trail & Error Theory?/ fAa & & ®1 w1 iR Y@ Riid &
oI T 82

1. Theorndike / iﬁ%
2. Pavlov / Ulddld

3. Skinner/ RER

4. Kohler/ ﬁ%ﬂ'\’

Correct Answer :-

« Theorndike / UFSIsH

9) Brale Lipi is related to:/ Safey G iid g:
1. Blind child/ 3i¥ STcie

2. Speech handicapped / aTuft faw i aas

3. Mentally Retarded child/ddH< dTcldh
4. None of the above / SURIad & T HIs gl

Correct Answer :-
« Blind child/ 3% STc®%
10) Imitation, Attention are related to: /3fJ®30l HTATHY U U %:

1. Language development / YT fasTa

2. Social Behavior/ ITHIN®G SAd8R

3. Mental Behavior/ AMRI® TdgR

4. None of above/ SRiad A I dv\lé:l"gf

Correct Answer :-

« Mental Behavior/ AMRI®% AR

11) Right stage of child development is:/ ST fd®HTH HT T IHH: &
1. Babyhood, childhood /&4, dlcddXT

2. Prenatal, infancy / m—r&mﬂ, EELEH

3. Prenatal, childhood / THTGRIT, STeawT

4. Childhood, prenatal/dlicda®iT, THgRT

Correct Answer :-



. Prenatal, infancy / a1, S04

12) Change in development is: / faora & uftad- gid 8:-

[

1. Qualitative change/ YU TRadH

2. Quantitative change/ HIATH® JHATHD

3. Creative change/ T TR

4. None of above/ Wﬁ@fﬁ'&c:@'

Correct Answer :-
. Qualitative change/ TOTd® TRad—

13) Foundation of National AIDS control organization is:/ ?T@HWH%WITFIT
&9 ®I g At

1. 1991
2. 1993
3.1992
4. 1990

Correct Answer :-

« 1991

14) Among these which is not the classification of exceptional child?/ 378 d

o1 fafy arae & arffexor & =8t smat 32
1. Intelle actual /SIS fa=eH

2. Motor/THe® faarer

3. Sensory Deviance / daq! faaad

4. Child welfare scheme / T BT TR

Correct Answer :-

« Child welfare scheme / TS BT TR

15) We understand Handicap child as:/fa@diT 9= &) g9 W4 §:
1. IQ less than Normal/ E\{@W@W

2. 1Q more than Normal/ §fg I ¥ 34fdd

3. Physical disability/ QIR dy



4. None of the above/ mﬁ@f?ﬁé:@'

Correct Answer :-

« Physical disability/ IRIN® ¥

16) Which of the following is not the stage of language development? / K
DI I yTaT I &t srawar 78 32

1. Preparation of speech/ SieH &1 R}
2. Sentence use/ T TaRT

3. Correct pronunciation/ & STRUI
4. Socialization/ USR]

Correct Answer :-

« Socialization/ THATSI®GOT

17) CWSN specially ment for child with special need connecting them with

main stream:/CWSN fa=iy a{mmﬁaﬁﬁa@ RT ¥ Sig+ & fw uga &
1. True /9

2. Wrong/3idd

3. Partially true/3fifR1% I

4. Partially wrong / 3fifRi% 3 &

Correct Answer :-

18) Who is the Founder of Creative Test?/mqﬂwa?ﬁ'HﬁT P2
1. Gilford/fe®Ts

2. Freud/W1as

3. Skinner/ PR

4. Pavlov / UTgdd

Correct Answer :-

. Gilford/fie®is

19) Meaning of prenatal is:/ WHcd &1 3 g:

1. Period of before Birth /S Jd T4



2. Period of After Birth / 9H diq 9HY
3. Conception /iTi-rT?ﬂ:r

4. Period of embryo/fUUE @&y

Correct Answer :-

« Period of before Birth /WU@‘W

20) Integrated child development services started from: / THfdd 919 faer Jar
YIS B YRY {5 18:

1. 1975
2. 1985
3.1987
4. 1999

Correct Answer :-

« 1975

21) Continous Process is:/ fARax Ta= arelt ufpar g
1. Growth /dfg

2. Development/ fomr

3. Growth & Development/qfg Td fa®bra

4. None of above/ G@Hﬁﬁ@faﬂéq‘?ﬁ

Correct Answer :-

. Development/ﬁm

22) AIDS causes through:/ TgH e &:
1. Through Virus/ﬁ'ﬂlTUl@[

2. Cough & Cold/ el I

3. Through mosquito/ R 9

4. All of the above / IWRiad g+t

Correct Answer :-

« Through Virus/faurg 9



23) Which is not law of learning:/ fF9 # ¥ #19 Wi@q &1 fFaw T8 &
1. Law of readiness/d@Rdl &1 (49
2. Law of exercise /3 &1 HgH

3. Law of effect /Hﬂ-l'l'q’ﬁﬁ'qﬁ
4. Law of medal/Avsd &1 fAad

Correct Answer :-

« Law of medal/Avsd &1 fFad

24) Purpose of Instruction is:/ﬁ%&ﬁ%ﬁ%{@%z
1. Development of Ability/ grgarst &1 fae™

2. Help in personality Development / Hfddd fab™ | Terd
3. Help in decision making / fAuial & Ggras
4. All of the above/ JuRidd Ft

Correct Answer :-

« All of the above/ IWRiad gHt

25) Exceptional children Quality is different from Normal child: /3w a0 &
T[0T T STad! J T 8d &

1. Quantitatively / HEATH®

2. Qualitatively / TUITHD
3. Quantitatively & Qualitatively / AHETH 37R 0TS

4. None of the above/ IWRiad # J BIs el

Correct Answer :-

« Quantitatively & Qualitatively / HATHD Gﬁ'{uund-lw

26) Integrated child protection scheme is related to?/T®Igd aTd JREUT TISTT
fraa Twafa 32

1. Protection of child Rights/ STd IfI®R] BT &
2. Child development / CIGACEAE
3. Child protection/ &Tcl TR&UT

4. Child care/ §Td ¢@HTA

Correct Answer :-



« Child protection/ dTcT TR&IUT

27) National Handicap Organization is situated at: / IT$19 fa@ T HRIH Fl (RUd

e
1. New Delhi/7s faeait
2. Mumbai / &%

3. Deharadun / oY &
4. Calcutta/ CANE]

Correct Answer :-

« New Delhi/=s feeait

28) Memory mental Ability is related to:/ Tfd, g Mgar-aw=fiie 2:
1. Mental development / AHRI® [dHT

2. Creative development / oIS [dhTH

3. Cognitive / IS f[ddT

4. None of the above / IWRIFd H ¥ HIs g

Correct Answer :-

« Mental development / AFRI® fadbr

29) Which factor is not influencing human development: / 1% 919 fa®rg &t
TUTFIT = ATl PRSP 8] &

1. Heridity & Environment /dRITJshH T4 TdTaR Ul

2. Nutrition/ GISoT
3. Family/ IRaR

4. Infancy / dd44

Correct Answer :-

« Infancy / JdUq

30) Education of children with unable learning is: /3ftRTH 37&r STaA®! B R8T 84:
1. Ability Training/ JrgdT UfR1efor

2. Skill training/ DI UfReror

3. Ability training & Skill training/ T\ URIETOT GUT HIIS TiRTeT0T



4. None of these/ ﬁﬁﬁﬁéqﬁ

Correct Answer :-

« Ability training & Skill training/ T URNETor JUT HII UiRreror
31) XY Chromosomes are called/ XY UR[H $gdTd 3:

1. Sex chromosome/fciT TORE

2. Combination chromosome/ gfd TUGA

3. Rhesus factor/ 9 e

4. Unique chromosomes/ &WW

Correct Answer :-
« Sex chromosome/feiT U

32) Which of the following is first develop teeth?/f~9 # & S I gid UYH IR
fomfia glar 82

1. Milk Teeth/gY & &id
2. Permanent teeth/RIS &id

3. Occlusion /o< 3dYURTT
4. Above all /G'Clﬁﬁﬂ papty

Correct Answer :-

. Milk Teeth/g¥ & aid

33) According to Torense characteristic of creative person is:/EﬁTHaTGIﬂﬂT\'
gorTeTss afaaal @t fapat fadivary gt 2

1. 84 characteristic/ 84 fawdmn
2. 96 characteristic / 96 faRyamQ
3. 02 characteristic/ 02 faRQvarg

4. 42 characteristic/ 42 faRNdg

Correct Answer :-

« 84 characteristic/ 84 fa=vdmQ

34) Special Education is related to:/ e & @ 1 fafry fRren & gferfea €
1. Special teacher/ fafR1y e fag



2. Special Reading material/ fafRry grey It
3. Special activity/ fafRmy fosar fafe
4. All of the above/ SRiad g+t

Correct Answer :-

« All of the above/ SRiad g+t

35) Among these which is/are aims of special Education?/f= # 4 &9 faviw

e 1 3ExA 7732

1. Help in adjustment/ AN § 8rdl

2. Maximum development of ability/mﬁ fehad fapr
3. Economic Independence / 3Mffe Tadzrar

4. All of the above / IWRIad gt

Correct Answer :-

« All of the above / IURlad g+t

36) First step in child language development is:/ IS HTYT fIPpTH & Siaiid a9
vgd A 8:

1. Pronoun/ Jdam
2. Noun/ 91

3. Tense/ &Id
4. Verb/ fepar

Correct Answer :-
« Noun/ T3l

37) What is the programme at national level for Special children & women

care:/ fafiree sTere! gd afgarsit 1 d@uTe 7q TR W BT S HH w1 §:
1. D.M.C.A.R/ SL.THH TR

2. D.C.R.A.W/ S 81.3R TS

3. D.W.C.R.A/ 3.8 H1.3R.T

4. D.R.A.C.W/ SI.3R. TS

Correct Answer :-

« D.W.C.R.A/ Sl S Hl.3MR.T



38) Full form of AIDS is:/ USH &1 QRT ATH T &:
1. Acquired Immune Deficiency Syndrome / QWSCEEE SIh R ﬁl@'ﬁ
2. Acquired Immune syndrome / T&Ta8 g1 RigH

3. Acquired syndrome/ T8 RIgH
4. None of above/ SWRIdd &Is gl

Correct Answer :-

. Acquired Immune Deficiency Syndrome / T&Tds R SithiRIT- RigH

39) Who does sex determination?/ &I feiT frufzor #war g2
1. X Chromosome/ X HIHGH

2. Y Chromosome/ Y SIaRIH

3. XY Chromosomes/ XY SN

4. XX Chromosomes/ XX HIHNEH

Correct Answer :-

o« XY Chromosomes/ XY HIHH

40) Crying is related to: /391 Jdfd &
1. Language/HTul

2. Social/‘vTﬂ:ﬂﬁW

3. Emotion/‘vﬁw

4, Motor/TTdIHD

Correct Answer :-

« Language/HTdl

41) Persona related to: /WA H&fid g
1. Emotion/‘vﬁ"'{

2. Personality/afada

3. Language/HTNT

4. Physical/ IRING

Correct Answer :-



« Personality/afada

42) When National AIDS Day celebrated?/ ﬁ%{mﬁavﬁmm%?
1. 1st November/ 1st dd&R
2. 1st December/1st fga=R

3. 1st June/ 1st 97
4. 1st July/1st G\J,Fﬂ'it

Correct Answer :-
» 1st December/1st foateR

43) Important factor in social development is:/mmﬂuﬁﬁaﬁ%
1. Heredity/ d=IIshH

2. Gender/ T

3. Environment/ ardraxur

4. Heredity & Environment/ d=IIJshH 3R qraTaRol

Correct Answer :-

e Environment/ ardraxul

44) Foundation of National Institute of public cooperation & child development

is:/ ISETY oI AN UG 9T FIpT TR Pt RITYAT HF B T35 A
1. 1966
2.1978
3. 1980
4.1967

Correct Answer :-

« 1966

45) Types of inability learning are:/3(fRRTH 31T FUPR &
1. Problem related maths / TIOrd Haeht gH=n

2. Writing Problem / feReH &t s1gdar

3. Reading Problem / Ue- &1 GH&



4. All of the above / IRIad gaft

Correct Answer :-

« All of the above / IRIad gaft



